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010 Maxima [0 [

1.1 Maxima D0OUOOOOOOOOOO

Maxima OO0 OO0 OSOOOOO0OOOODOOOOOOOOODOODOOOOODO oSOoOOoOoOooDOo
ubooooooooooboooooo
000000000000 ®WooDoo00000000D OS0000000ooog

e Linux 0 MacOSX OOUOODOOOOUOO xmaxima & 000000000 0OLinux Zaurus 0000 O
000000 lisp.run -M maxima-clisp.mem DO OO0 OO0

e Microsoft Windows 0 0000000000000 OD0000 — Maxima-x.x.x — XMaxima x.x.x
00000000 xxx0OOOOOOODOODOOOOOoOoOO

O0DDO0O0OMaxima 0000000 O0OO0ODOODOOODDOOOODODOOODOOOOODOOODOO
0 O Microsoft Windows 00000000000 ®0O
O0000000000000000000000G 00000000 z=e"tcos(4t) 0000000
ooooooo

(%11) plot2d(exp(-t)*cos(4*t),[t,0,2*)pil);

" gEr-rCOS@)

08 -

04 ¢ q

02 | 1

02 F ";‘ B 4

04| Lo ]

-0.6

(%ho1)

Wpooooooooooo

MOD00000000Linux O (KNOPPIX/Math, Linux Zaurus) 000 000000000000000000000000O
OSO0D0000000000000000000000 Microsoft Windows 0000000
(3)0DooDO0O00000D0000000000000000D00D00000000000D0000000D0O0000000000
0o00oO0oOoooooooon
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00000000 (;)00Maxima 0000000000000 00O00ODO0O0O0OOO0ODO0O0ODOOOO
000000000000000002=2%2-4200000000000000

(%i2) plot3d(x~2-y~2, [x,-2,2], [y,-2,2], [grid,30,30]);

Abdbbornvws
Abdbornwas

(%02)

gboooboobooboobooboobboboobao

XA2-yn2 oo

bbb dbornws
AdbNvPhorNwa

gobooobooboboobboobooobooobbooboboboboooboobboon
o0 oobooobooboooboooboobboobbooboobbooobbooobobobobD =20 200
00 224+ax+b=000000000000

(%i3) solve(x~2+a*x+b=0,x);

(%03) [x = - = B ]



. Maxima OO O OOD0OODOOOOO
gbobgobooobobobobobobobobobobobobooobobbobooboobobon

1.1
00000000000000000000 «0000 28%+432-7=000000000000

solve (x~3+3*x-7=0,x) ;
sqrt(3) %i 1

(hid)
sqrt(53) 7 1/3 sqrt(3) %i 1 2 2
(hod) [x = (-=--——-- +-) (= === - D )
2 2 2 2 sqrt(53) 7 1/3
(=== +-)
2 2
sqrt(3) %i 1
sqrt(53) 7 1/3 sqrt(3) %i 1 2 2
x = (-==-———- +-) (=== - =) - e )
2 2 2 2 sqrt(53) 7 1/3
(=== + =)
2 2
sqrt(63) 7 1/3 1
x = (=== +-) - mmmmmmmom oo ]
2 2 sqrt(53) 7 1/3
(=== +-)
2 2

gbobooboboboboboboooooooobooooboobobobobobobobon

ooo
(%15) float(expand(solve(x~3+3*x-7=0,%x)));
(%05) [x = - 2.117364769746451 %i - .7031437899802674,
2.117364769746451 i - .7031437899802674, x = 1.406287579960535]

1.406287579960535 D DO UOODODDOOO 2 = —0.7031437899802674 +

X

gooooooog z
2.117364769746451; 00 00O OOOOOOOO
000000bO0bO00O0000bO0o000bOobO0o0oOOo0oo0oOOz*0O0O0OO D-j;qji oooog
T
goooooog
(%i6) diff(x"x,x);

x
x (log(x) + 1)

(%06)

(%i7) integrate(1/(x"3+1),x);
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2x-1
2 atan(------- )
log(x - x + 1) sqrt (3) log(x + 1)
(ho) - - + mmm—mmm - + —mmmmm—
6 sqrt(3) 3

00,000000000000000000000000O000O0O0O00OO00OO0O0O00 ma"(t) =
mg —rz'(t), 2/ (0)=0,z(0)=R 0000000000

(%i8) atvalue(x(t),t=0,h);

(%08) h

(%19) atvalue(diff(x(t),t),t=0,0);

(%09) 0

(%110) desolve(m*diff (x,t,2)=mxg-r*xdiff(x,t),x,t);

(%010) x(t) = ———————————- + - + —mmmmmm -

gbooobooboobooboobooboboobooboon
gboooboobooboobooboobobboobooo

(%i11) matrix([1,-21,[2,1]1).[2,3];

[ -4]
(Yho11) [ ]
L 7 1

(%112) expand(determinant(matrix([1-t,t,1],[-t,-1,t-1],[1,1-t,t]1)));

2
(%o012) 6t -61t+2

gbobobobobooooboooobooboooooboooooboooboobooobooboooobooooboooboooDog
gobooboooboooboooooooboooboooooboobooboboooooooooooon
gbooooooooon
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U000 Maxima OO OO0OO0O0O0O0O0O0O0OOODOOOOOOOOOOOODOOOOODOOOOODOO
goboobooooboobobooobooobooooooobooooooooooooooooboooon
oboboooooooobooboooobobooooobooooboboboon

DDDDDDDDDDDDDDD+DDDDD

Maxima encountered a Lisp error:
Console interrupt.

Automatically continuing.

To reenable the Lisp debugger set *debugger-hook* to nil.

bboooOoooooboboobooboobooboboooooboon
DDDDDDDD-l—DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
ooooooboooobooboo

e Linux 000 MacOSX OO OOOOOOO ps auxc | more D 0000000 OOO O maxima O
xmaxima 0 PID 000000 Omaxima D0 0000 kill -KILL PIDO0O OOOCOQOCCOCOO
OO0000D0DLnux ZAURUSODOOOOODOOOODO lisp.run O0000O0D0OOCOODOCOOO
ooo

e Microsoft Windows NT/2000/XP 000 00| Ctrl |+| Alt |+ | Delete |[00D0D0ODODO0
00000000000000000000000000000000000000000maxima.exe,
xmaxima.exe J00000000000000000000000

e Microsoft Windows 98/Me D0 0000000000000 00000000000000000
DDDDDDDDDDD‘Ctrl‘+‘A1‘c‘—i—‘Delete‘DDD 2o0000000000000

Maxima OO0 O0O0O0O0000O0O0O0O0OO0OD0OODOO0DOODOODOODOOOOOOOOOOOOODOD
goboooobooooob0ooboboooooooobo0b0o0bo0oDnD Maxima OOOOOOOO
Maxima OO0 00000000000 O0DOOCOO0OOO0OO0OOOOO0ODODOOOODOOOOOODO

1.2 pOOooobooadd

O00000000ooDoD0oO0O000000Maxima JO00ODDOOOODDODODOOOOO0OOO
0WDODO000D0D0000000000000000XMaxima 0000000000000000D000
gobooobobooboobooooboobobooobooboOoooooboboooooOooobooooboon
ooo oooo

7 0oOOoDoOOnD;

0000000000000 00000 z=f(2,y) UO0OOUOO0ODOOUOOOOO plot3dadddOOOO
ooooogo

(%i13) 7?7 plot3d;

WO0O00 function 0000000 Maxima J00000000 function 100000000000000
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Info from file C:/PROGRA™1/MAXIMA~1.2/info/maxima.info:
-- Function: plot3d (<expr>, <x_range>, <y_range>, ..., <options>, ...)
—-- Function: plot3d ([<expr_1>, <expr_2>, <expr_3>], <x_range>,
<y_range>, ..., <optioms>, ...)
plot3d (2°(-u"2 + v°2), [u, -5, 5], [v, -7, 71);
plots ‘z = 27 (-u"2+v"2)’ with ‘w’ and ‘v’ varying in [-5,5] and
[-7,7] respectively, and with <u> on the x axis, and ‘v’ on the y

axis.
(00000000 200000000000)

See ‘plot_options’ for more examples.
(%013) FALSE

gbobgoooobobobooboobobobobobobooooboboboboooobobon
gbobobooooooboobooboboboboooooooboboooobobobobooboooo
gbooooooooboobooooboboooooa

http://www.infoseek.co.jp/Honyaku/

OO000D0O000D0D0000Maxima OOOO0ODOOOO0OOOOOODODDOOOODO

http://www.bekkoame.ne. jp/ “ponpoko/Math/maxima/maxima toc.html

oboooboooobooboooobobooobon

booboboobooboooobooooboooooooboooboboOobOOoboOoooooboon
oobooobobooboooooooobooobooooobooobo0ooboOn pletooooooO
oboooooooobon

(%i14) 7 plot;

(maxima.info)Plotting.

Definitions for Plotting.

openplot_curves :Definitions for Plotting.
plot2d :Definitions for Plotting.
plot2d_ps :Definitions for Plotting.
plot3d :Definitions for Plotting.

D Ok W N = O

plot_options :Definitions for Plotting.
7: set_plot_option :Definitions for Plotting.

Enter space-separated numbers, ‘all’ or ‘none’:

O0plot DOO0O0OD0OOO0OO0OO0OOOODOOO0OOOOOODOOOOOOODOOOOODOOOOOOOO
obooobo0o:1r 3; 0000000b00o0obo0oboooo0oboobobooboobOobnon a11;, 000
00000000 0Db0000 none; OOODOOO
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Enter space-separated numbers, ‘all’ or ‘none’: 7;
Info from file C:/PROGRA™1/MAXIMA~1.2/info/maxima.info:
—-- Function: set_plot_option (<option>)
Assigns one of the global variables for plotting. <option> is
specified as a list of two or more elements, in which the first

element is one of the keywords on the ‘plot_options’ list.

‘set_plot_option’ evaluates its argument. ‘set_plot_option’

returns ‘plot_options’ (after modifying one of its elements).

See also ‘plot_options’, ‘plot2d’, and ‘plot3d’.

Examples:

(Doooooooooooooo

(%ho14) FALSE

00 Maxima 0000000000000 D00C0D0O00O0®0000000000000000OC

1.3 0O0Ooon

Maxima 0000000000 OOOOOOOOOOOODOOODOOOOOOOOO0 +0DOOO -0DO0O
O«0000 /00000000 ~Oo00o0000o

coooooooooo0oOoboooOoO0obooOoooDooO (YyoOopooooooooboooooo
ocooooogooooooobo (H)obooooooooogooobooOooDooooooorflooooo
uboboobOobooooobobooobobooooooooooboooobOoooon

(%i15) 3+5;

(%015) 8

(%i16) 3-5;

(%o16) -2

(%117) 3%5;

(%hot7) 15

(5i18) 3/5;

(4)2005 0 10 0000000000000 00DO000O000000000000O0000D0O00000O0ND 2000000
go0oo0oooOooO0O0O00000o0OD0O000 300000000
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3
(%018) _
5
(%i19) 3°5;
(%o19) 243
(%120) (4*5+2)/7;
22
(%020) L
7

gobobobbobobooooooboobooboboboboboobooboboboobobobon
gbooobooboobooo ooboobooboobooooboon

float (OO OOOODO);

googobooog

(%i21) float ((4x5+2)/7);

(%o21) 3.142857142857143

gboooboobooboooobooboobooboobon

fpprec: 00 ;

gooooon

bfloat(DOODOOODO);

goooooon
(%i22) fpprec:50;

(%022) 50

(%i23) bfloat(%pi);

(%023) 3.1415926535897932384626433832795028841971693993751B0



14. OO0ODO 9
(%i24) fpprec:16;

(%024) 16

(%i25) bfloat(1000!);
(%025) 4.023872600770938B2567

OO00000 %pi0000000 n0000000ODODDOCOOOOOOOODCDODODOO e0ODO %e
OO000DD +=+/-1000 %1 000000000bvpfleoat 00000000 BOOOOOOOOOOO
00000000000000000DDD0O0D0O04.023872600770938 x 102" 000000000000

1.4 0O0OO4O

Maxima 00D0O00000DDOOCOCOODODOOODOOOOOOO0O0OODODOOOOOOOOOODODDOO
goooooooboooboooboooooobooboooooboooobo0ob00 Dobobobobooo
gboooooboooooboobooogoobon

sqrt(0);

gbooobooobon

cabs(0);

ooboobooobooonoo
(%126) sqrt(72);

(%026) 6 sqrt(2)

(%i27) cabs(-1.2);

(%027) 1.2

(%128) cabs(2+3*%i);
(%028) sqrt (13)

oooooo

exp(0);
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000000000 00Db0O0O00 e %e0DOOODOOO~DOOUOODODOODDOOOO O
oood

log(O);

OO0000OOO000DOO000OoOO0OOO0OO00bOOO00D1I0g(10.0) JODDOOODODOOODO
(%i29) exp(2.3);

(%029) 9.974182454814718

(%130) %e~2.3;

(%030) 9.974182454814718

(%i31) 10g(20.0);

(%031) 2.995732273553991

(%i32) log(2.0)/1log(10.0);
(%032) 0.301029995663981

000000000sin(0), cos(d),tan(0) OO00OD0 OO Osec(O), csc(d), cot(O0) 0ODODOO
00000000000000 (radian) 0000000000 ODOOOOCOOOOO #O0O0O 18000
ooooooooo

(%i33) cos(%pi/3);

(%033) .
2

(%134) tan(45%%pi/180);

(%034) 1

000000000 a0D00O0O0OO0O0OOOasin(d), acos(d), atan(d), asec(d), acsc(d),
acot() DO0OOOODDODODOODODODODODODOOODOOOOOODOODDODODO 18OOOO =«
oooooooooooo

(%135) asin(0.70710678118655)*4;

(%035) 3.141592653589807
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(%136) float(atan(0.08)*180/%pi);
(%036) 4.573921259900861

O0O00O0ODO0O00000 n0000000000O0sinh(O), cosh(O), tanh(d), sech(O), csch(O),
coth(0) 0O0ODDOD ODDODOO0OO0O0DDOOasinh(0), acosh(), atanh(), asech(d), acsch(0),
acoth(d) OOODOOO

oooobobobobooooobbobooooouoobbobbooooooobooon

(%137) sin(cos(0.6948196907307875)) ;
(%037) 0.6948196907307875

gobbooooboooooobooooooooboooooooooobooooooboooobooooag
000 float(O); OODO bfloat(0D); OODOOOODOO

(%138) sqrt(5);

(%038) sqrt(5)

(%i39) float(sqrt(5));

(%039) 2.23606797749979

1.5 ODOogooon

Maxima OO0 O0O0O00O0OMaxima OO0 0000000000000 0OOCOOOOODO0ODO0O0O0ODO
gboooobogood

goo.-g0bgooo;

000000000000« O0O00O0ODOOO02000000000000A0
(%140) a:2;
(%040) 2
00000000 «00000O00O0OOsin(z) 00DOD0OOOOOOOOODOO
(%i41) a:sin(x);
(hod1) sin(x)
OO00000oooooooooOoooooooooon

(%i42) a:2;
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(%042) 2

(%143) a:a+2;

(%043) 4

goboobboooboobbooboooooobooooooooooobooooboooboooobobobooa
gboooboboooooboooooboobooobobooooboobooooboooobobooona
ooboooooboobboobooooobooboooooooooboooboOooooboODbDOoO0bbDbeOO
4000000000D0O0OOOO0ODOOOODOODOOO

(%i44) axsin(2x*t);

(%o044) 4 sin(2 t)

gboooboo 400000000 00DbO0DOOO0ODOO0OOOODOOOOODODOOOD DOODOO
U00Oe«DO 400000000000000

kil (OOOO0000001, 000000000 2,--4);

gooooo

(%145) kill(a);

(%045) done

(%146) axsin(2x*t);

(%046) a sin(2 t)

ubooooboooooobooooo
gbooobobooooobooooooboooobobooonoo

ooo@ooH):=000;

0000000000000000000000000000000 (0000)000000
00000000000000 200000000000000000 p(a,y,s,t)=2% 00000
oooo

(%i47) p(x,y,s,t) :=x"s*y"t;

s t
(%o4T) P, vy, s, t) :=x vy

(%i48) p(1.2,0.8,1/3,2/3);
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(%048) .9157713940426656
(%149) p(s+1,t-1,u,v);

u v
(%ho49) s+1) -1

gboooboooooobooobo z,y,s,t 0000000O0OC0O0OO0OOOOOO0OOO0OOO0O0OO0
gbooooboooboooboobooboobobboboobooboobooboon

(%i50) q(x,y,z,s,t,w) :=p(x,y,s,t)*z"u;
u

(%050) q(x, y, z, s, t, w) :=px, y, s, t) z

(%i51) q(x,y,z,s,t,u);

(%o51) Xy z

gboboooboooooooooooooobooooooooooobooooboooOobooooobooooonog
gboobooboobobo eubOobOOoOobOoOoOOobOOO0bOObOOObOO0OOO0 oDOobOoboooboo
Ubob000xinn00ogoogo

(%152) kill(p);

(%052) done

(%i53) p(1.2,0.8,1/3,2/3);

1 2
(%053) p(1.2, 0.8, ——, --)

3 3
(%053) qx,y,z,s,t,u);

u

(%053) px, vy, s, t) z
(%053) kill(q);
(%053) done

OO000DO0OMaxima OO00OO0O0000O0O00DOOO0O0O0OOOCOODOOOOOOOOOO

1.6 0OOOO00OO

1. 00o0ggooo

U0 solve UOO0OO0ODOOODOOODOOO0DOODOODODOODOODOODO



14 010 MaximaOOO

2. 00000000
O0000 Maxima OO0OOO00OO

(1) 27354 1846 — 3099

(2) 2.35x 3.91 —1.83 x 7.01

6174
58 + 89

(4) 2213 x 3.441%

©) (3511>%

3. 0ggn

gbooobooboobg oooboboobo

(2)  cos(sin(2.63%))

(3)  logy0(42)

1 1
(4) 16arctan | - | —4arctan [ ——
5 239

() Vi
4. 0000

(1) 0000 ¢0 cos(30°) 0000000000

1+t
(2) 0000 ¢0/—'pooooooooo

—t
(3) DOODO sO — 0gbogboobod

(4) 2000000000
(5) 0000 te¢s0000000000000

M

5. yugog

(1) D00 20000000000000000000O0O0O0OOOO0 %DDDDD p(z) OO
oooooo .

(2) 000 00000000 0UCOOOOOUCOOOOOCOOOOOOOO §(w—32)EIIZIEIIZIIZI q(z) O
gooooboo

(3) 000 ¢, :000000000000000 3000000 (z,y,2) 0000 a?2+y2+220
0000 r(z,y,2) 00000000
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(4) 000 a b c 2,y :000000000000000000 3000000 (a,b,¢), (z,y,2) 00

b
ooo (;051( ax 0y + ez ) 00000 s(a,b,ca,y,2) 00000000
r(a,b,c)r(z,y, z)

(5) 00 p(x), q(x), r(x,y,2), s(a,b,c,z,y,z) D000 O000000O0O0O0OO
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20 UOooubod

2.1 DO0O0OODOODO(@OOOoOOO)

Maxima OO0 0000000000000 OOC0OO0ODOO0OOOO0OODOOODOOOOOOOODODOOODAO
gobooboboooooobooboooobOooobboooobooooooooobobooboOoobobooooaoon
gboooooboooon

gbooobgoobobboobooboobooboboobooboboboboobooboobobo
gbobgbobobgoboooobobobobobobobobooooobobobobooooo
OD00O0OMaxima 0000000000000 00000000O0D000O0WO0000000000
gboooooooobooboboooboobooooo

0000000000 y=f(x)000000000000000D00000y=2200000 -2<2<2
gbooobooobooo

(%i54) plot2d(x~2,[x,-2,2]1);

351 i
25+ g
15+ ]

05 | p

(%054)

UooobOo0 plot2d 00000000 O0OOOOOO

plot2d(000,[00000,000,0001,0000000000);

gbooooooboooboobooboooobooo coboooboboobboooobobooboooDoDbo
DEIDEIDEIDIZIDEI|:|IZIDDDDEI|:|EIDDDDEIDIDDDDDDDDDDDDDDDDDDDDDDD
DDDDDDDDDDDDDDDDDDDDDy:—1+1DDDDDDDD

T —

)oOoDO000000000000000000000000O0Maple 0000000000000



18 020 000000
(%i65) plot2d(1/(x-1)+1, [x,-2,2]);

25000

UL

20000
15000
10000

5000

-5000 -

-10000

-15000

-20000

25000 ! ! ! ! ! ! !
-2 -1.5 -1 -0.5 0 0.5 1 15 2

(%055)

gboooooooobooboob0ob0obooboobbUb0 z=100000Maxima 00O 0OODO0O
bobooboooboobOoooboobOoboboonobobobboboooooooboooooobooban
gbobooboobooooobobooobOobooooobooboonboo

(%156) plot2d(1/(x-1)+1,[x,-5,5], [y,-5,51);

(%056)

000000 plot2d 000000 OCOOCODOOOOODOOODOOOOODOOplot2d 000000
ooooO (l1oo0oo0O00ooo0oOooooo0oobOo0oOooDOOo0oooooooOboooooOooOoooDoobooOoO
0000000000000 00000000000000000000000Ocos(z) DODDOODODO
gobooooo0ooobooboboobobobooooboooo

(%157) plot2d([cos(x),1-x"2/2,1-x"2/2+x"4/24,1-x"2/2+x~4/24-x"6/720], [x,
-2xYpi,2*Ypil, [y,-4,41);
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COS(x)

A

! | XP4[24-xM2[2+1 -------
3+ i { Fun4 —-—-

(%057)

gobooboooboobbooboobboobboobooobooboboboboobboan
gbooooobooooon

(%158) plot2d([exp(x),3-x"2], [x,-2,2], [y,-1,4]);

“%E"‘x
S 3x2

35

25

15

05

-05

(%058)

00000 y=e*0y=3-220000002000000000000 2000000000000

22 0JO00O0OOOOD(OOOoOoOoOoOoOo)

00020000000000000000000000000000000 200000000000
0000000000{z=f(t),y=¢(t)} 00000000000000000000000000plot2d
000000000000000000000000

0000z =cos(t),y=sin(t) 00000 0<¢t<2r 00000000000



20 g20 000000

(%159) plot2d([parametric,cos(t),sin(t)], [t,0,2*%%pil);

08 | p
06 F 4
04t 7 R

02Ff i oA

02 i .
04F E
06 F 1

08 F 4

(%059)

0000000 plot2d 0000{z = f(t),y=g¢()} 00000000000000000000000

plot2d([parametric,x 00000 ,y00000],[00000,000,000], 0000000
ooo);

Ub0b0oodglb plet2dd00DO0O0OO0ODODODODODOODODOODOODO 1000O00000OOO
gbobgobobobobooboobobobobobobobobooboobboboboboboooo
goboobooboooooooobooboooboooboooooooooboooboooboooooooooobooogoo
OO0 [nticks,100] OOODOOOO0DOOOOOO

(%160) plot2d([parametric,cos(t),sin(t)], [t,0,2*)pi]l, [nticks,100]);

08 |- 1
06 | R
04l ~ A

02 B

02 F A
04 .
06 | E

0.8 | T ]

(%060)

gboooboobooboobooboobn
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23 0DO000OODOOD(@OOOOOO)

Maxima 0 3000000000000 0000O0O0O0O0O0O0OOOODOO0O0O0OO0z=f(z,y) OO
0000000000000000000 z=2>-32y? 00000 -1<2,y<1 00000000000

(%i61) plot3d(x~3-3*x*y~2, [x,-1,1], [y,-1,11);

XAB-BRXAYND oo

(%ho61)

gooobOod plotad 0000000 OODOOODOOOODOOONO

plot3d(0O0O, [x OOOOO, OOO, O0O0O71, [yooooo, o000, 0001, o000
oooooo);

gboooooooboobooooboboD sox3oobobooooobooboooooooooooDog
2

ElEIEIElDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD%IZIIZIIZIEII:IEI
=Ty

(%i62) plot3d(x~2xy/(x"4+y~2),[x,-1,11,[y,-1,11);

XN2*YI(yN2+XNA) -

(%062)



22 020 0OO0O0OOO0OO

oo0o0oooooooobopooooog [grid,s0,50] OO0O0 2,y OOOOODOOOCOOOODOO
gbooooobooooboobooooboboooboobooo

(%i63) plot3d(x~2%y/(x~4+y~2), [x,-1,1], [y,-1,1], [grid,50,501);

XN2*YI(yN2+xN4) -

0.6
0.4
0.2

-0.2
-0.4
-0.6

(%063)

gbobobobobobbobobobobobobobobobobobobobobobobon
gboooooboooooboboooooo

gobboooobooobooboooooooobooobooboboooboooboobooOooooooag
gboogoboooboobooboboobboboobobobbobooboobooboobbog

24 0D00O0O0OOO(@WOOOOOOOO)

000000 z=f(s,t),y=g(s,t), z=h(s,{) 000000000000000000000000
0000 x(s,t) = cos(s) cos(t), y(s,t) = cos(s)sin(t), z(s,t) = sin(s) O —g <s< g, 0<t<2r 000
oooooood

(%164) plot3d([cos(s)*cos(t),cos(s)*sin(t),sin(s)], [s,-%pi/2,%pi/2],[t,0,2%)pil);

Function -------
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(%064)

0000000 plotdd 0000 {x = f(s,t),y =g(s,t),z=h(s,t)} 00000000000000O0O
00000000

plot3d([f(s,t),g(s,t),h(s,t)],[s, 000 ,0007,[t,000,000]1,000000000
0);

UbO0b0O0oO00on plot3dd00D0O0D00OO0O0O000O00O0 30x30000000000000000O0
ooooooOooooOo0ooooO0ooo0OoooOoo0UoooDOooDO [grig,s0,50] DOODOO
gbobobooooooboboobobobobooooooboooobooooobbobobonoooo
gooooooo

(%165) plot3d([3*cos(u) + 5*cos(3*u) + (3*(cos(u) + 5*cos(3*u))*cos(v))
/ (2%sqrt (234 + 90xcos(2*u))) - (3*cos(6%u)*(sin(u) +
5xsin(3*u) ) *sin(v)) / (2*sqrt(13 + 5*xcos(2*u))*sqrt (22 + 5*xcos(2*xu)
+ 9xcos(12%u))), 3*sin(u) + 5*sin(3*u) + (3*cos(v)*(sin(u) +
Bxsin(3*u))) / (2*sqrt(234 + 90*cos(2*u))) + (3*(5xcos(3*u)
+ cos(5*u) + cos(7*u) + 5*cos(9%u))*sin(v)) / (4*sqrt(13 +
B5xcos (2xu) ) *sqrt (22 + 5xcos(2xu) + 9*cos(12*u))), 3*sin(6*u)
- (sqrt(13 + b*xcos(2*u))*sin(v)) / (2*sqrt(22 + b*cos(2xu) +
9*cos(12*u)))], [u, 0, 2*%pil, [v, 0, 2x%pil, [grid, 80, 81);

Function --------

Aodbhornwa

(%065)

gbooobooboobooboobooboobooboobooooboo

2.5 gnuplot UU OO

Maxima 0000000000000 O00OOCO0O000DOCOOOO gnuplot 00ODOOOO00O0OO00OO
Maxima OO0 0000000000000 0DOO0O0OOOO0O00O0OOO0ODO0O0OO0ODOOO0



24 g20 000000

plot2d O plot3d DD OO gnuplot DO DOODOOODOODOOO0OOOOOOOO ODOOODOOODOO
000000 [plot_format,gnuplot] DOODOOOOOONOOmaxout.gnuplot OO0 OO0OOOOOOO
00000000000 00D00000 gnuplotOOODO

e plot2d J 0D OOOODOOONO

load ’maxout.gnuplot’

e plot3d U 0D OOOODOOONO
set hidden3d
load ’maxout.gnuplot’
unset hidden3d

000000000000000000 set hidden3d 0D OO0 DOD0ODO00DOO0DOOOOOOOON
000000000 0®@ooooooo®o000000D000D00N00N0N00N0oNooNonoooonon
0o00000o0ooooon

2,5.1 U0b0ObOOOoOoOoobobobooobobon

ODO00OMaxima JO00O0O0OO0D0OOO0OO0O0OO0O0OOOO0DOOOODOOODOOOOOOOODOOOOOO
0000000 000000000 gnuplot DO000OO0O000O0O00O0O0O0O0O0O0O0O0O0O0O0O0OOO
2¢+3y=300000000000

000000 maxout.gnuplot DO UOOOO0O0O0O0O0O0O000O0O00O0O0Outility.gnuplot U0
gbobooboobdoooooboboooooogid z=s,y= 2_é28,z =t00000000<s<1.5,
0<tg<200000000000d

(%166) plot3d([s, (3-2%s)/3,t],[s,0,1.5],[t,0,2], [plot format,gnuplot]);
(%066)

00000000 b0O0ODb0Ob00OD00Outility.gnuplot U maxout.gnuplot DO OO O set pm3d [
splot 00000000000 OOgnuplot DODOOOD0OODOOOOOOODOOOO

gnuplot> set hidden3d

gnuplot> splot ’maxout.gnuplot’ notitle with lines, ’utility.gnuplot’ notitle

with lines

@oooooooooo
(S)DDDDDDDDDDDDDDgnuplot 3.x0000000unset hidden3d OO 00 set nohidden3d 0O OO O0
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T
e 7
T A . A 4

gnuplot> unset hidden3d
gboobOuooobOobO0obobo0obo0OviewdD 2t 0000000 OO0OO 20000000000
gbooobooobooboobn

gnuplot> set view 60, 300
gnuplot> set hidden3d

gnuplot> splot ’maxout.gnuplot’ notitle with lines, ’utility.gnuplot’ notitle

with lines

PP LXK S
A S S SSIN
SN
[T
U1
(T>

gnuplot> unset hidden3d

gnuplot> set view 60, 30

25.2 JU00OO0OOOOOOOO

OO00OMaxima JO00O0O0O0ODOOO0OOOOODOOO0DOOODODOOODOOOODOOODOOOOO
gboooooboodb gnuplot UOOO0OOOD0OO0DOODODOODOOODODOODOODODODOOOO



26 g20 000000

2
00000 (00)00 2=A2%'000000000000A=1,s= ,s:§DDDDO<x,y<2

gbooobooobooon

Wl =

(%167) plot3d(x~(1/3)*y~(2/3),[x,0,2],[y,0,2], [plot format,gnuplot]);
(%067)

O00Ognuplot DOOOOOODOOOOODOODOOO
gnuplot> set contour

gnuplot> load ’maxout.gnuplot’

ZZ Y 4
e A e S S
AL TS FALL AT 7 177 -
L7 AT T T A 7T

L 7 T A 7

""llll"',',','"""':"'

/7]

gnuplot> unset contour
O000O0Ocontour 00 0000000000000 000000®WO0O0000Ohidden3d 0000
oooboooooooooobooboOoooooooooooooooOon
gbooobobooboobdoobo sgbobooboobooboobooon

e set cntrparam levels auto O U0
000000000000 000000000000000000000000®0

e set cntrparam discrete OO OO
obooboooooobooboobooooooboobooooooboooooooboooan
goood

e set cntrparam increment UOO, OO, OO0
dodddodooooboooooobooooooooobo oo o000 oo oo bOoOoooOoo
aao

gnuplot> set contour

gnuplot> set cntrparam levels auto 10
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gnuplot> load ’maxout.gnuplot’

gnuplot> unset contour
coboooobooooboooboboooooboboo0oobooooooooooooooobooOooo0oon
0000000000 unset surface 000 ©®0000000000000000Oview 000000
0, o0ooOooono

gnuplot> set contour

gnuplot> set cntrparam levels auto 15
gnuplot> unset surface

gnuplot> set view 0, O

gnuplot> load ’maxout.gnuplot’

(4)DDDDDDDDDDDDDgnup10t 3.x0000000unset contour DO OO set nocontour DO DO OOO
(5)gnuplot 3.x0000000set cntrparam auto D00 OO0OOOO
(G)DDDDDDDDDDDDDDgnuplot 3.x0000000unset surface 0000 set nosurface 000000



28 g20 000000

gnuplot> set surface

gnuplot> unset contour

2,53 KBIgXOOOOOOOOoOOO

0000 Maxima O plot2d, plot3d D0 0000000 [plotformat, ps] OO OO PostScript O O
0000000000000 00000000RTEX00000000000000000000000OO
O0000000000000000000000O0gnuplot 00000000000 O0O0eps 00000
0000000000000 000000000000000000000000000000000

gnuplot 00 000000000000O0O0O0OOOODO eps00O0O0O0O0O0OO

(1) set output "OO0OIO0O"UO0O0OOOOUOOOOUOOOOOOOOUOCOOOOOOOOOOOOO
oboooboobD .eps000D00O0O0O0CODOOO

(2) set terminal postscript eps DO OODODO

load ’maxout.gnuplot’ DO OOOONO

(4) Linux 0000 set terminal x11 O, MacOSX OO OO set terminal macosx U O Microsoft
Windows OO 00 set terminal windows 000000000000

—~
w
=

OO0000D0O0ODODOODOOOgit 000 png0000ODODODOOOCOOODOODOO0OOOODODOOO
U0O0000D00O000000D0OD00DOUOset terminal postscript eps O OO O Oset terminal
gif O00Oset terminal png OO0 000000000 O00O0DODOOO0O0O0 .gif 000 .png00000O
ooooooooog

26 UOOOOOO
l.y=f(x) DOOO

(1) O00y=z2(x—1)200000 -2<2<200000000000

(MooD0000000000000000000000000000000
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(2) 0000 y=10-082400000 0<2<10000000000000

549202 — 4o —3
(3) DDDDy:x_+x+1x 00000 -3<2<300000000000
x

(4) 005000000 y=ek*, (k=-2,-1,0,1,2)00000 —2<2<200000000000
ooQ

(5) DDD%:ameDDDDDDDDDDDDDDDD

2. z=f(t),y=9g(t) OODOO
(1) 00 z=3cos(t)+cos(13t), y(t) = 3sin(t) +sin(13¢) 00D 00 0Kt <2 00000000 O0ODO

(2) 0000000 z=cos(Tt), y=sin(4t) 00000 0<t<2r 00000000000

/ in(t) cos(t
(3) DDDDDDDDDDDDDx:—jf%Lgy:Eﬂi%ilDDDDDOgtg%DDDDDD
1+ sin®(t) 1+ sin®(t)
afalafaln

3. z2=f(z,y) OOOO
2 2
(1) DDz:wp(—i€i1>am@vﬂ+yﬂDDDDDD—4<@y<4DDDDDDDDDDD

cos(x)
cos(y)

2) 000000000 z=log 00000 —L<zy<2 00000000000
2 2

1
r

(3) 200000 CESOOOOO (0000)u(a,z,y,p.q;7)=alpz " +qy") * 000000000
000 a=2,p=2,¢=3,r=20000000<2,y<200000000000

4. © = f(s,t), y=g(s,t), z=h(s,t) DOOO

(1) D000 z=-cos(s)(3+cos(t)), y =sin(s) (34 cos(t)), z=sin(s) 00000 0<s,t <27 000
goooooobo

(2) 000000000 z=cos®(s)cos®(t), y = sin®(s)cos®(t), z =sin®(t) 00000 0<s,t<2r 0
gboooboooon

(3) DOODOOO0OODOODODO z=2sinh(s) cos(t)—% sinh(3s) cos(3t), y = 2sinh(s) sin(t)—% sinh(3s) sin(3t),
z=2cosh(2s)cos(2t) DO0DDODO 03<s<09,0<t<2r 0000000O0O0OOO

5. gnuplot O OO

(1) Maxima O y=000000-2<2<200000000000 gnuplotDJOOOOOOOO

(2) gnuplot 00000z=+224+y?0 z=2+100000 -1<z,y<1 000000000000
gbooobooboobobooboobooboobooboboo
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(3) gnuplot 00000z =sin(zy) 000000000 0<2,y<70000000000000000
000000 7000000000

(4) 0OO0O0O0OO0OUODOOU0OTEXOOOOUOO eps000000O0O00UOUDOOgif0000O0ODOOOO
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30 Ubotuun

3.1 JUoooon

gobooobooooooobbobooooboboooooboooooobooboobobooooooooooDO
goboobooooooobooboobboooooobooboooboooooooooooboon
OO00000D00O0OMaxima OODOOO00D0OO0OODOOOOODOO

3.1.1 00gdoobo

000000000 D0expand DO 000000 0OOexpand DOOOOOO

expand (0O 0);

goo

(%168) expand((x"2+x+1)*(x"2-x+1));

2 4
(%068) 1+x +x
(%i69) expand((a+b)"5);
5 4 3 2 2 3 4 5
(%069) a +5a b+10a b +10a b +5ab +b

gbobobobobobooboboobooOoOoOoobOOOobOobOOobOobOOobOobOOoooboOoobooonog
gbooobo0o oobooboobooboobbobbobbOobibO0bDOratecoef DUOOODOratcoef
gbooobogon

ratcoef (0O 0O ,00);

gog
(%1i70) ratcoef (a*x"2+b*x"2+c*x+d,x"2);

(%070) b+ a
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3.1.2 0O00O0OoooOo

gboooboobooboobdlDfactor 000000000 factor DOOOOODO

googo

factor (OO DO);

goo

(%i71) factor(2*x~2-5%x+2);

(%o71) (-2+x) (-1+2x)

(%i72) factor(a”6-b"6);

2 2 2 2
(%ho72) (a-b)la+b)la -ab+b) (a +ab+b)
(%i73) factor(x~4 + 4);
2 2
(%073) 2-2x+x)2+2x+x)

Uboo00db factor DOO0DOO0O0OODODOODDODOODOOODOOODOOOO

(%i74) factor(2520);

(%o74) 2 3 57

3.2 OOOOOO

3.2.1 000000

gboboboooooboboboboboooboboboobobbboboobooobobon

gbooboobooboobooboobooobn
000000000 Oratsimp 0OO00O0OO

(%175) ratsimp(2/(x+1)-1/(x-1));

(%o75) Ty

gbooobooboobgoooobooboo

num(ratsimp(00 0 ));
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gboooboobooog

denom(ratsimp (00 0));

Oo0oo0ooooooooooog
(%176) num(ratsimp(2/(x+1)-1/(x-1)));

(%076) x - 3

(%177) denom(ratsimp(2/(x+1)-1/(x-1)));

(%oTT) x -1

3.22 0U00O0OO0OO0OOOO

boboboboboboboboboobooboobObOobobobOOobOobOobobobOobona
0000000000000 00000000D0000000Maxima 00 partfrac 0000000
partfrac 0O OO0

partfrac(000, O0O);

goo

(%i78) partfrac((x"3+2%x~2-4%x-3)/(x+1),x);
(o8> e +x +x-5

gobooobboobooobooobboobboobboobobooooboboboobbooon

4207 —dx -3
00000000000000000000000000000y=2"22"2"3  _424, 5

z+1
020000000000000000000

(%179) plot2d([(x"3+2xx"2-4*x-3)/(x+1) ,x"2+x-5], [x,-5,5], [y,-7,71);
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T
Funl --------
X"2+x-5

(%079)

3.3 OUoooog

Maxima OO0 00O0O00O0O0O0DOOCOO0OOOODOOOODOOOOOOOOOOOOOODOOOO
gobooboboooooobooooboboobooooboooooooooboooboooboooOooooOoon
goooooooobooooooobooooboboooboooooooobooooboobbooboooooboooo
goooboobooooobobbooboobooooo

U0000000Osolve DOOOOOsolve DODOOO

solve(DODO, OODODOO);

000000020 30000 224+2224+3z+4=0000000000

(%180) solve(x"3+2%x"2+3*x+4=0,x%) ;

sqrt(3) %i 1
I i =)

(%080) [x = = —mmmmmmmmmmmmmmmmee
5 sqrt(2) 35 1/3

3 sqrt(3) 27
5 sqrt(2) 35 1/3 sqrt(3) %i 1 2

3 sqrt(3) 27 2 2 3



3.3. ODOoOooDoo 35

sqrt(3) %i 1

5 (- === - =)
5 sqrt(2) 35 1/3 sqrt(3) %i 1 2 2
N ) (= - =) = s
3 sqrt(3) 27 2 2 5 sqrt(2) 35 1/3
9 (=== - —- )
3 sqrt(3) 27
2 5 sqrt(2) 35 1/3 5 2
- -, x = (bmmmmmeem - - ) - oo - -]
3 3 sqrt(3) 27 5 sqrt(2) 35 1/3 3
9 (m====--—= - - )

3 sqrt(3) 27

gobobooobooobbooooooobooobooobboooooboooooOoooooobooOooooon
O0solve DODOO float O bfloat OO OODOOOODOOO0OOOOOOOODOOOOODOOODOOO
O000000000 expand OOO0OODOODOOOODOODOOO

expand(float(solve (OO DO, OOODOOO)));

oooooooooon
(%181) expand(float(solve(x”3+2*x"~2+3*x+4=0,%x)));

(%o081) [x = - 1.546868887231395 %i - 0.17468540428031,
x = 1.546868887231395 %i - 0.17468540428031, x = - 1.650629191439386]

gbobooboobooboobooboobobobooboobob 2000000000 0O0DO

(%i82) solve(a*x™2+bxx+c=0,x);

(%082) [x = = ————————mmm B ]

gboooboobooboooboobboobboobooboobooboobobboon
000000000 seclveOOOOOOOOOODOOOOOOO

solve([0OODODOOO], [OCOOODOOOOOD;

gboooobobobbobbobooboobooboooboboobo 10000

2z + 4y = 30
r4+y=12

ooooo®Wooono

Mo0 10000000000000000000000000000000 linsolve 0000000000




36 030 00000
(%183) solve([2xx+4xy=30,x+y=12], [x,y]1);
(%083) [[x =9, y = 3]1]

gboboooobobobooooboooobobooooooobooboboboooobOobooooboOono 14
ooo

2z + 4y — 32 =30
c+y+z=12

oboo0o 300000 20000000000000DO0000O00OO

(%184) solve([2xx+4*y-3%z=30,x+y+z=12], [x,y,2]);

7 %r1 - 18 5 %rl + 6
(%o84) [[x = = —m— A R , z = %rl

O0000D0O0OMaxima OO00O0O0OO0O0OO0OOOOOODOODOODOODOODOODOODOODOODOODODOO
Oo0o0oo0o0o00oD e 0D0O000DOOOOODOOOODO
gboooboboooobo 10000

20 +y =10
z—y =20
z+ 2y =30

gboo0o 2000000000000000 3000000000000 000OO0O0O000O00OO0O

(%185) solve([2xx+y=10,x-y=20,x+2*y=30], [x,y]);

Inconsistent equations: (3)
-- an error. Quitting. To debug this try DEBUGMODE(TRUE) ;)

gbobooboobooboooboooobooobobooboobooboobooobn

3.4 UJUoooood
00000 solve 0000000000000 00000000D0000000000O000O0O0O0OO

0000000 20000 e*=3-22000000000000

(%i86) solve(exp(x)=3-x"2,x%);

X X

(%086) [x = - sqrt(3 - %e ), x = sqrt(3 - %e )]

gbobod xgboooboobooobooboobooboobooboboobooboobooboan
gboooboooboobooboobooboo
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(%187) plot2d([exp(x),3-x"2], [x,-2,2], [y,-1,4]);

T —
J3xm2
35 - ]

25 | d
15 F q
05 e 1

-05 —

(%087)

gobooboboooobooobooboooooooboobooobobooooobobooobooboOon
0000000000000 0000 000000000000000 newton.mac 00000000 ®0O
gboooboooobooood

load(DOODOOO);

gooood
(%i88) 1load(newton);
(%088) C:/PROGRA~1/MAXIMA~1.2/share/maxima/5.9.2/share/numeric/newton.mac

000000000 newton 0000000000000 0O00OOf(x)=00000 2000000
f(z) 00000000000 O0O0OOU0OOD newton OOOODO

‘newton(l]l]l]l]l]l]l]l], ooooo);

000000000000000 «*-3+22=0000000000000000000000000
goboobobooooooobooobbobooobobOoobOoobooobooboboooboobooOooooOoon
gobooobooboooosbooboonooDb -1e000bDO0bOObOODO

(%189) newton(exp(x)-3+x72,0.8);

Warning: Float to bigfloat conversion of 0.80000000000000004

@ Linux ZAURUS 0000000000000 00000000Linux 0000 Microsoft Windows 000000000
maxima-clispmem 0000000000000 O0COOO0OO0OCOOOOOCOOOOCOOOOOOOOOOOOOOOOOO
oooooooooo
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(%089) 8.344868653087891B-1

(%190) newton(exp(x)-3+x"2,-1.6);

Warning: Float to bigfloat conversion of -1.6000000000000001
(%090) - 1.677232708533473B0

gobooobobooooooboooobooooboooOoooooboooo0oobooooboOoobooooa
gbobooooooobooooooooooooboooobobooboboOobobOoboobOoboobon
0000000000000 o0O0o00o0oO0o0o0oU0O0o0oUoDO f(x)DOODO 100 (CO)ODO
O000000000000000000 2, 0000 (x, f(zg) O0D0O0 y=f(x) 000000000
oboooouoob 0000000 2z, O0OO0OO0OO0O0OO0ODOODOOOODOOOOOOODOOOODOOO0
obooooooooooo

~x2 xa X0

DDDDDDDDDDPDDDDDDDDDDDD
DDDDx%+ﬁW+E=0DDDDDDDDDDDDDD1DDDDDDDDD

0 Fod
/ 5 x4 3
-0.2 L L 2 [

-1 05 0 05 1

r,=-046639 00 00000000000000CG000000000:z 000000000000
goooboboooobobooobooboobooboooooo
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) o )

0000D00x% —624+1322-2=000000000000000 v20000000000000
1 =-V2,2,=+/200000000000000000
gbobooboboooooboooobobooooboobooooon

3.5 UUooodg

1. J0gggao

(1) 000 (—a+b+c)Pla—b+c)Pla+b—¢P 00000000
2) 000 (z+1)*(z-2)%0 20000000000

(3) 000 —bet—act +b2c3 +abe® +a?c® + b3 + a®c? — be+ abdc + a®be — a*c — ab* + a?b3 + a3b? — a*b
goooboobood

(4) 19348061080666364197661270034638081 0O DO U OO OOOO

2. 000000

(1) 000 z-1+ 0ooooooo

r—2
3(x+1)_73(x2—m+1)

() ppoooooooOoOoooOooo
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4.

0o3d
1
2
1+
7
2+
7
3+ —
000 —————200000000000000000
1
2
3+
2
2+
)
1+ -
T
000 —— 00ooooooobog
x4+ 1
3 2
-3 3
oono %DDDDDDDDDDDDDDDDDDDDDDDDD
T —
.goooooo
000 28 +pz+¢=00 20000000000
ooogo
a3+ yP 2% =8
22+ y? + 22 =27
r+y+z=1
Oz, y, 20000000000
ooogoo
zy+yz+zx=1
r+y+z=1
Oz, y, 20000000000
ooogo
2 +y3 =5
22 +y? =3
r+y=1
Oz vy 20000000000
gogooogo

000 z=cos(z) D0O0DO0ODOOOOODOO

googo



3.9.

(2)
(3)

gooooo

1
DDDx%+ﬁ?&m:0DDDDDDDDDDDDDD

000 25-62*+1322-2=000000000000000

41
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40 UOO0OOO

4.1 00000

goboobboobbooboobboobbooobooboooboobobooboobboan
gbooooboooooboooobooboooobobooobooboooobooooboboOooonoa
goboobooobooboooooboooobooboooobooobooboooooboooobooooobooooon
gboooboobooboobobboobboboobooboobooboobooon

goboooobooobooboboobbooboo0ooooooooobo0boboobbdMaxima OO
gbooobooooooboood

limit(O0O, OO0, ODOO000O);

000000 0000000 (000)00o0o0o0o0oo0ooooooooooo

limit(ODO, OO, OOOOO, plus [DOOOODO0O minusl);

0000000 0DO00D000000oU0D000o0D inf, 000000000 minf OOODOOO
(%191) 1limit(sin(x)/x,x,0);

(%091) 1

(%192) 1imit((1+1/n) "n,n,inf);

(%092) %E

(%193) limit(1/x,x,0,plus);

(%093) INF

(%194) 1imit(1/x,x,0,minus);
(%094) MINF

gobbOooboooboobyOO0obbo0obo0obooobooobooboooboobooooOoooOooon
ooooooooooooDo
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gooobooooobooogob oboobobobobOOobO0 yObOOoOOODOOODODOOODO
bobobobobooooboobooooooboooboooooboooobobOobobOoboobobobon
gboboooboooobooboooobobooobOobooooooooon

(%195) plot2d(exp(-x~2*20)+1, [x,-3,3],[y,0,1.8]);

1.8

QEN-(20XA2)+L -

1.7
16
15
14 F
13
12

11

(%095)

0000000 2=0000000000000W000000000000000O000z0 000
oooooooon

(%196) limit(1/(exp(-x~2%20)+1),x,0);

1
(%096) --

2
ocbodboobobbdobdr=0000000000000000000000
cooboooooooooooooooobooOoOoooboOoOoOoOoooooooooobcOobooOonooon

ooooooooo 200 :csin<l> coooboooooboooooooooooooboooooooon

T
gbobgobobobobobobobooobboboboboboboooboboboboobooo

gboboooOooooooboooobobooooobooon
1
xsin<—> gboooooobodbd y=100000000000000000000000DOO0OO0
T
gbobooboooboooooobooboobooooboob oobooooobooooooooboooobo

(%197) 1limit(x*sin(1/x)-1,x,inf);
(%097) 0

gbboobooooboobOoboobooboooOo0obOoob0o0n 1imit 0000000DOO0000
goooooboooooo

Mpooooo0000000000000000000 plot2d 00000000 OCODOOO0O0OODOOODOOOOO
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fw+h) - f(x)
s S T

0000000000000 0000ooooDobobo00Maxima O0OOOO0OO0O0O0ODDOOOO
oooooobooog

000000 f(x)O xDDDDDDDDDDDDDDDDDDDDDDDDD}I}m

diff(00, 00000 1, OO0 1, DOOOO2, OO 2, --);

gbooboboobobooboboobooboboobooboobooboobobooboobooboooonoo
gboboobOooooooboboobooboooon

(%198) diff(sin(x"2),x,2);

2 2 2
(%098) 2 cos(x ) - 4 x sin(x )

(%199) diff(sin(x*y),x,2,y,2);

2 2
(%099) x y sin(xy) - 2 sin(x y) - 4 x y cos(x y)

(%1100) diff(x"2*y~2);

2 2
(%0100) 2 x ydel(y) + 2 xy del(x)

OO0 del(x) O del(y) OD02z 0 yODO0OO de 0 dyOODODODO

gbooboboooooobobobboboooboboboobobobobobobooboobn
gobooobooboobboobbooboboobboobboobooboboboboobboobo
gbooobooooooboood

taylor(OO ,0000,00000,0000);

gooobooobooo

(%1101) taylor(tan(x),x,0,9);

(%o101) X+ —— + - + —m——— . + .

(%1102) taylor(x/(1-x-x"2), x, 0, 7);

2 3 4 5 6 7

(%0102) x+x +2x +3x +5x +8x + 13 x + .
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4.2 00000

ooooODODOO00000o0o0ooOo0ODOOOO00000oobOOODODODOO0000000D0O0OOMaxima
gbobobobobobgobobooobobobooboboboboooobobobobobobobo
0000000000000 000000D00000000®o0o0000o0

gobobOoobooboooobooboooboboboobobooon ioooboobobooobooobo
gbobobooooooboobobobobobobboboobobobonoooooboboboboo
gbooobooobooboobooobobboobboobbobooboobooboobb obooobo
goooooo

sum(O00,00000,000,00);

gboooboooooooboooon

product(00 ,00000,000,00);

oo®n
(%i103) sum(i,i,1,30);

(%0103) 465

(%1104) product(i,i,1,30);

(%0104) 265252859812191058636308480000000

pOUD0O00 1 00000000000000000000000000000000000000000000000000
gooooooooooooooooooobooooooooo.-.- 0OOob0b0O0oooooooOoOobobooooooo -0
(®)Maxima 00000000000 00000C0O0D0OO0OOOOOOO

!
d !

d
L f(2) = (- EG)! )
dx =0 dx !
'x =0
n
n \
Zxk = > X
k=1 / k
k=1
n
L
1
ka = 11 x
k=1 r ok
k=1

/
b L
I f(x) dx
de —
[ i@az= ]
/

000000D000D0O0OS0000D0O0O\D ¥00000000
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gboboobooboobooboooboobooboobooobo
Ubooob0oo0o00o0oob0oo0o0obO0bd0 nusum-mac OOO0O000O0OO0OO0O0OO

(%i105) 1load(nusum);
(%0105) C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/algebra/nusum.mac

0000000000000 000 nusum 00000000k O0 100 nO00000000DCDOO
oooooood sumO0o0ogo

nusum(0 0, 00000,000,00);

DDDDDDDDDDDDZIJD Zkr’“DDDDDDDDDD
k=1 k=1

(%1106) nusum(k~7,k,1,n);

2 2 4 3 2
n (n+1) (83n +6n -n -4n+ 2)
(ho106)  mmmmmmm e
24
(%1107) nusum(k*r~k,k,1,n);
2 2 4 3 2
n (n+1) 3n +6n -n -4n+2)
(ho107) e
24
n+ 1
r (nr-n-1) r
(hoto?y e + ——————
2 2

(r - 1 (r - 1

goboooboooboobboobooobooobbooooooooo0oobooooboOoobooooag
U00000 Maxima OODOOO0O0OOD0OO0DOO0OO0OO0OODOOO0OOCOODOOOOODOODOOOOODOO

integrate(0O0O0O0O,0000);

obooobooooooboood

integrate(0O OO0 ,0000,000,000);
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ooooobobooobobbooboobobOMaxima OODO 0000O0D0O0OOOOO

(%1108) integrate(a*x~2+b*x+c,x);

(%0108) —————— + ——_——— + Cc X

(%1109) integrate(exp(-x~2), x, 0, inf);

sqrt (%pi)
Chot09)

(%1110) integrate(integrate(x~2,x,sqrt(y),y),y,0,1);

(%0110) -

(%1111) integrate(sin(x~2/2),x,0,2);

sqrt (hpi) ((%i + 1) erf(%i + 1) + (Ui - 1) erf(%i - 1))
(hot1l)

2
Oddodon erfO0000O0O0O0O0OODOO0OOOOOOODOO0O erf(x):/ ertDDDDD
™
—x

goooobooobboobbOobOoobo0obonD fleat DO0DOOO0DOO0DOODODOOO

(%1112) expand(float(integrate(sin(x~2/2),x,0,2)));

(%0112) 0.44311346272638 %i erf(%i + 1.0) + 0.44311346272638 erf(%i + 1.0)
+ 0.44311346272638 i erf(%i - 1.0) - 0.44311346272638 erf(%i - 1.0)

gbooob0o0o00bOo0 simpsn.mac OO0 000000O000O0O0DOO0O0OOO0OOOO0ODOO0ODO
gooooooon

(%1113) load(simpsn);
(%0113) C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/numeric/simpsn.mac

gbooobooobooboobobboobbobbobboboobooboobD oboobooon
go

traprule(000,000,000,000);

gbooooobooboobobooboo
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simpson(0 00O ,000,000,000);

gbooobbob0o 1bobo0ob00boo0oooobooooobooboooobon

(%i114) fresnelsin(x):=sin(x"2/2);

2
x
(%o114) fresnelsin(x) := sin(---)

2

(%i115) float(traprule(fresnelsin,0,2,100));

(%0115) 0.99759596867572

(%i116) float(simpson(fresnelsin, 0, 2, 100));

(%o0116) 0.99762370943206

(%1117) float(simpson(fresnelsin, 0, 2, 1000));
(%o117) 0.99762371132523

goboobooboobooooobooooboooooboooooooooobooobooboooboooooo
0000000000000 0000000000WDOO0000000000000000000 +00

t s2 t 52
oo </Cos<—>ds,/sin<—>ds)DDDDDDDDDD
0 2 0 2

(%1118) fresnelcos(x):=cos(x"2/2);

2

x
(%0118) fresnelcos(x) := cos(---)

2

(%1119) plot2d([parametric,float(simpson(fresnelcos,0,t,500)),
float(simpson(fresnelsin,0,t,500))], [t,-10,10], [nticks,1000]);

Mp0D00D000000000000000000000000000000000000000000000000000
g0o0o0oooOoOoO0OD0b0000o
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15 T T T T

st ]

-1.5 -1 -0.5 0 0.5 1 15

(%0119)

4.3 UOO0OOOO

gbobobobobooboboboboboboboboboooouoobo0obddsolve OO
gbooobooo oboboobooboobooboboboo

atvalue(O O ,00000=0,0000);

goooboooo

desolve (DO OOO,00000);

O000000000000000000 ma"(t) =—kz(t), z(00=A,2/(0)=000000000
(%1120) atvalue(x(t),t=0,A);

(%0120) A

(%1121) atvalue(diff (x(t),t),t=0,0);

(%0121) 0

(%1122) desolve(m*diff (x(t),t,2)=-k*x(t),x(t));

Is km positive, negative, or zero?

positive;
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sqrt(k m) t
(ho122) x(t) = A cos(—mmmmmmmo—— )

gbooobooooobooDbo

2(0) =y(0) =1
oooooogog
(hi123) atvalue(x(t),t=0,1);
(%0123) 1
(%i124) atvalue(y(t),t=0,1);
(%0124) 1

(%i125) desolve([diff(x(t),t)=2%x(t)-y(t),diff(y(t),t)=x(t)+2*y(t)], [x(t),y(t)1);
2t 2t
(%0125) [x(t) = %e (cos(t) - sin(t)), y(t) = %e (sin(t) + cos(t))]

0000000 desolve 1000000000000 0000000000000000000000
F(@) +2f@) =9 gnnpooooooo
x
(%i126) desolve(diff (f(x),x)+x*f(x)=sin(x)/x,f(x));
(%0126) £(x) =

2 (———-—- (laplace(f(x), x, lvar))) - 2 atan(lvar) + 2 £(0) + Ypi

000000000000 000000000®0000000020000000000000000
U0o0000b00000 ode2000000DO0O0O0O0O0O0DOODOO

ode2(0O0DOOO, ODODOO, ODODO);

gooooon

(%1127) ode2(diff (f(x),x)+x*f(x)=sin(x)/x,f(x),x);

G)pooDooDoO0D0oO0ODoOn lvar(Laplace VARiable) 00D 0000000 laplace JO0DO0OD0ODOOD0OOOOOO
000 ilt(Inverse Laplace Transform) 00 0000000000000 00ODOO0ODOOOOO
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2 bd
X -
- — / 2
2 [ % sin(x)
(%0127) f(x) = %e (I - dx + %c)
] X
/

0000000000000000000000000000000®n

gbooobooboobooboooboobobobobbobbobooboobooboobon

4.4 000OO0OOO

1.

(1)

3.

(1)

ERERE

000 lim%)_llDDDDDDD

z—0 cosh(3x) —

000 ©s(z) -1 noppgpoo

im
z—0+0 x|z

n—oo n

92 an
o000 lim (1—3—) goooooo

zt—2?+2+5

od y= -

00000000000000 y=220000000000000

.ugagoo

00 f(z) =cos(cos (cos(z?))) 00DDDOO0O00000OO0O0300000000000

00 f(z) 00000000000000000000000000000 z0000f(z)=000
000000000000f(z)=2% (¢>0)00000000000

2
0o f(x,y):%lj x0000000 fo(e,y) 0000y 0000000 f,(z,y) 00000
at+y
00000 f(r,y) D0O0O0O00OOO0OO

00 log(cos(nz)) D02x=10000000000000000 700000000 OO

ggobooog

gbooooboooon

> =

10000
000 log(10000) — >
k=1

®)pUoDo0D0000000000000000000000000000N00000D000N00N00DOODOONoODn
[ERERE]
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(2) OO0 arctan(z) D02 =1000000000 100000000000000000

n
(3) 00O ) k0000000
k=1

100 . 9
4 0D0O (1—Sm(k))|]|][l|]|][l[l[l[l[l
k

k=1

10000 Sll’l()
(5) 00O H( >IZIEIDDDDDDDD

4. JOoOod
(1) DDDD/

1
5_’_1dacIZIIZIIZIIZIIZIIZIIZI
T

0 22
(2) EII:II:II:II:I/ Ce~zdrxr=10000 COO0ODOOOO
—o0

(3) 0OO y:f(a:)[ll]l]l]l]l](a,f(a))w(b,f(b))l]l]l]l]/b 1+ (f(z))’de 00000000
000000000 y=cosh(z) 000000 (log(2 — v3),2) ~ (log2 + v3),2) 0000000

000
(9 00y = () (a <z <bfx)y>000000000000000000000000O
27T/f (f(z))’de 00000000

2 y2

obooooooon x—2+b—2:1,(a>b)D sr0b00b0000ob00oboo0Ooooobocooooobon
a

gboooby0oobooobooboooboobooooboooboo

5. Oonoodgd

(1) DOOD0O J(t)=98—-49() 000000 »(0)=00000000000

(2) 0ODOOO 2"(@®)—22"(t)+32'(t) —22(t) =sin(xz) 000000 2(0)=1,2/(0)=0,2"(0) =—-10
oooooooog

(3) 00000 pl(z)=-2p(z) 000000 p(0)=— 0000000000

(4 0000000

000000 z(0)=1,y(0)=-10000000000
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50 Ubotuubd

5.1 U000

gbooobobo0ooboobobooboboobooboobooboDUD maxima ODOOOOOODOO
UO00Omaxima 0000000000000 O0O0COOOO0O0OOOOOOOOOOOO

http://www.yo.rim.or. jp/ kenrou/index-j.html

obooobooooooboood

5.2 OOOOOOO

Maxima 0000000000000 0O0DOOODOOOOOOO0OOOOOODODOOOOOO0OOO0O
gobooooooobooobooobooobooobooooooboboooboooooooobooon
oobooooboooooooboooogobooooobooooooboboooobooobooooboobobOoo
ooooooooobooboog

ooboooooOodbO0o0obO0o0ooOOo0obOOo00oobOoooOog (l1oboOoooboOgoooooag
O0000000000000000000000W00000000000000000000000
oooooboooobobooboboooooo

oooooo (oooDo7;

gboboboobobooooooobonooooobobonooooboobobobboboban
gboooboobooboobooboooboooobooboobooboon

(%i128) 1st:[[1,2,31,[4,5,61,[7,8,91]1;

(%0128) (f1, 2, 31, (4, 5, 6], [7, 8, 9]]

(%1129) 1st[2];

(%ho129) [4,5,6]

(%i130) 1st[3]1[2];
(%0130) 8

oooooooooooboooooooboooobocooooooooooooooooooOodgooon
ooooooooooocooooon
Mopooooo0000000000000000000000000000000000
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gooooo

makelist(OODO,000000,000,00);

oogooooon
(%1131) makelist(i~2,i,1,5);

(%0131) [1, 4, 9, 16, 25]

(%1132) makelist(makelist(i*j,i,1,3),j,1,4);

(%0132) (f1, 2, 31, [2, 4, 6], [3, 6, 9], [4, 8, 12]]

gbooobobooooboooooooobooooo

cons(O00O,000);

gbooobooobon

endcons(O 0O ,000);

gooood
(%i133) comns(x,[a,b,c]);

(%0133) [x, a, b, c]

(%i134) endcons(x, [a,b,c];)
(%0134) [a, b, c, x]

gboocobOoboooooooooon

append(000 1,000 2,---);

0oooooo
(%i135) append([1,2,3],[4,5,6],[7,8,91);
(%0135) (1, 2, 3, 4, 5, 6, 7, 8, 9]

gboooboobod on000D0O0O0DOODOO

rest(0O0O ,n);
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gbooobobooboobooboo n0OO0O0DLOO0OOODOO

rest(0O0O ,-n);

oooooo
(%1i136) rest([a,b,c,d,e],2);

(%0136) [c, 4, el

(%1137) rest([a,b,c,d,e]l,-2);
(%0137) [a, b, c]

gbooobooboobgooboobboobbobooboobooboobbooboobon

sort(00O0O);

gooobooogon

sort(0 00O ,ordergreatp) ;

good

reverse(sort(0O0));

oboooboboooooboon
(%1138) sort([6,2,3,1,5,4,3]);

(%o138) (1, 2, 3, 3, 4, 5, €]

(%1139) sort([6,2,3,1,5,4,3] ,ordergreatp) ;

(%0139) [6, 5, 4, 3, 3, 2, 1]

(%i140) reverse(sort([6,2,3,1,5,4,3]1));

(%0140) [6, 5, 4, 3, 3, 2, 1]
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5.3 Uuouoood

gbooooocoooooooooooobooooooooobobOoboo 4000000000 v O
v, OO0000000D0Maxima OO O0OD0OODO0O0OOODO0ODOOO v, v20000000

(%i141) wv1:[1,0,2,-11;

(%0141) [1, 0, 2, - 1]

(%i142) v2:[2,1,-2,01;

(%0142) (2, 1, - 2, 0]
000000000000000000000000000000000000000

(hi143) vi+v2;

(%0143) (3, 1, 0, - 1]

(%i144) 3*vi;

(%0144) [3, 0, 6, - 3]

(%i145) -2%v1+3*v2
(%0145) [4, 3, - 10, 2]

gboboooOoooboobobobooooooooobooboobOOobobobooboooooog 20 2
oo0o0oooo M, 0 M, O000DD0OO0OO00000D0 MaximaOOOOOOOOOOOOOOODO M1, M2
ooooogoo

(%i146) Mil:matrix([1,-2],[2,1]1);

[1 -2]
(%o146) [ ]

[2 1]
(%i147) M2:matrix([2,-1],[1,2]);

[2 -1]
(%0147) [ ]

[1 2 ]

obobooboooooobooooboboooboboooobooooobooboooon
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(%i148) -2xM1+3*M2;

[ 4 11
(%h0148) [ ]
[-1 4]

99

gobooooobooobobooobooooboboobooOoooooooOooooobooooooobooooa
000000000y, 00 20000000000v1[2l D00DODOOOODOOOO0OOODODOOOOO

oooooooo M, 00 (1,2)|:||:||:||:||:||:||:||:||:||:|M1[1,2] O00ooOoogo
(%i149) wvi[2];

(%0149) 0

(%i150) M1[1,2];

(%0150) _

gb 200000000000000000000O00O0000DO0O0O0O0 v1-v 000 n0O0OD0O0ODO

Joooobobboooooooboboon . oooobboo
(%i151) vi.v2;
(%o151) -9
00000000000 |o||0000000000O000O0O Yv-2OOODOOOOOOO
(%i152) sqrt(vi.vl)

(%0152) sqrt(6)

ooo300b0000booo0oobooboboo0obbobooobobo0o0ooD MaximaOOQOOO

googooooooooooooooooooobbooobooboobooboobooboobooog
(%1153) wvi:[a,b,c];

(%0153) [a, b, c]

(%i154) v2:([x,y,z];

(%o154) [x, y, z]

(%1155) transpose(adjoint(matrix(vl,v2,[1,1,1]1)))[3];
(%0155) [qz-ry, rx-pz, py-qx]

transpose, adjoint U DO0D0OO0D0OOD0OOO0OO
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54 U0OOOO

gbboooOoooooboobobobobooboooooboobOooooboboooobOoOoo oboooa
gbobgobobobobooboobobobobooboooooobooboboboboboboboooo
gboooobooobooobooboobuoobooobooooboooobooonbo . oboobooobo
gooo

(%i156) Ml:matrix([1,-2,3],[2,1,0]1);

[1 -2 3]
(%0156) [ ]
[2 1 0]

(%i157) M2:matrix([2,-1],[1,2]1,[-1,11);

[ 2 -11]
L ]
(%0157) [ 1 2 ]
L ]
[-1 1]

(%i158) M1.M2;
[-3 -2
(%0158) [ ]
[ 5 0 1]

(%i159) M2.M1;
[0 -5 6 1]
[ ]
(%0159) [5 0 3 1]
[ ]
[1 3 -3]

gbooobobooo-~obobooooobooobooo

(%1160) Mi:matrix([1,1],[1,0]1);

(%i161) M1°"100;

[ 573147844013817084101 354224848179261915075 ]
(%0161) [ ]

[ 354224848179261915075 218922995834555169026 ]
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gooooooooboboooboooodOnb0O0obO0oO0n01000000DOODODOODOODOO
gbobooooooooboobooobooboooobooboo . bOboobooboooooobooooooboon
obooobOooooooboboobooboooon

(%1162) mtx:matrix([1,-2]1,[2,1]1);

[1 -21]
(%0162) [ ]
[2 1 1]
(%i163) vec:[3,-2];
(%ho163) [3, - 2]
(%i164) mtx.vec;
[ 7]
(%0164) [ ]
[ 4]
(%i165) vec.mtx;
(%0165) [-1 -8]

gboooboobooboooobooboob

transpose(d0);

obooobooooon

(%i166) mtx:matrix([2,-1,0,0],[-1,2,-1,0],[0,-1,2,-1]1);

[ 2 -1 0 01
[ ]
(%0166) [-1 2 -1 01
[ ]
[ o -1 2 =-11

(%1167) transpose(mtx) ;
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[ 2 -1 o0 1
[ ]
[ -1 2 - 11
(%0167) L 1
[ o -1 21
[ ]
[ O 0o -11

00 transpose 00 0000000000000 00000O000000O0O0O0O0O0000OOO0O
00 30000000000®oooo0oo0oooon

(%1168) freefall:matrix([1.0,9.8,4.9],[2.0,19.6,19.6],[3.0,29.4,44.1],
[4.0,39.2,78.4],[5.0,49.0,122.5]);

[y
o

9.8 4.9

N
o

19.6 19.6

(%0168)

RS
(@]

39.2 78.4

L T e T s T e, T s T e T e T e Y s |
w
o

]
]
]
]
29.4 44.11]
]
]
]
]

[
o

49.0 122.5

(%1169) freefalll[3];
(%o169) [3., 29.4, 44.1]

00000000 3000000000000 0¢ranspese 100000000000 3000000
ooooooo®oooon

(%1170) transpose(freefall) [3];
(%0170) [4.9, 19.6, 44.1, 78.4, 122.5]

gobbooooboooooobobooboooboooooooboooooboobooboooboOoonoonon
gbobgoboobooooobooboooobboboboboboboooobobobboboooo
gboboobooboobooboooboobon

ident(O0O);

ooooboooooboobo

@row(00,O000); 00000O0OODOODO
(3co1(0O,000); 0000O0OODODOODO
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apply(matrix,makelist(ident(00)[11x0000000 [il,i,1,00));

oboooobooboooooon

zeromatrix(O 0O ,00);

ooooboboooobo 40b0000bo0obooogooo

(%i171) ident(4);

(%0171) L ]
[0 0 1 0]

[0 0 O 1]

(%1172) apply(matrix,makelist(ident(4) [1i]1*[2,3,5,71[i],i,1,4));

[2 0 0 01

(%0172)

[ T e T e TR e T s I |
—_ g

(%i173) zeromatrix(4,4);

(%0173)

[ T e T e TR s T s IO s T |
[N I Y VN VU [ ST

gboobooobobobobooooboboboboooboboboobobobooobobobobo
oboooobooooobobobooboboooboDbo

determinant (00 );
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odoboooooon
(%1174) determinant(matrix([1,-2],[2,11));
(%o174) 5

D00 00000000000 MOOOOOO MOOOOODOOOOOOOMODOO M~'OOO
gooooobooooobooobooog

adjoint (0 0);

gooooo

(%i175) adjoint(matrix([1,-2]1,[2,11));

[ 1 2]
(%0175) [ ]
[-2 1]

(%1176) adjoint(matrix([1,-2],[2,1]))/determinant (matrix([1,-2],[2,1]));

[ 1 21
[ - -1
[ 5 51
(%0176) [ ]
[ 2 1]
[-- -1
[ 5 51
goooooooooooooooo
invert(O0O)
goooooooooooo
(%i177) invert(matrix([1,-2]1,[2,1]1));
[ 1 21
[ - -1
[ 5 51
(%0177) [ ]
[ 2 1]
[-- -1
[ 5 51

0000000 (Cooo)o
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mattrace(O0O);

Ub0o0o0O0o0oob0obOob0ob0O0b00ObOn nehrpl.mac OO0 O000O00O0O0O0C0OO0O0O0O0DOO
ooooooog

(%1178) load(nchrpl);

(%0178) C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/matrix/nchrpl.mac

(%i179) mtx:matrix([1,0,-1],[0,2,1],[-1,0,0]1);

[ 1 0 -11]
[ ]
(%0179) [ O 2 1 ]
[ ]
[-1 0 0 1]
(%1180) mattrace(mtx);
(%0180) 3

gbbooboboooboboooboooobOooboooooboooobo0ononbOon selveOOOOO
gbobooboobooboobobobobobobooboobobobobid nchrpl.mac JOOO0O0OO

ncharpoly (00, 000);

U0O00000 DOO0O0Oeigen.macOOOOO0OOOOODOO

eigenvalues(O0);

gboooboobooboooobooboob

eigenvectors(00);

goooooooooog
(%1181) 1load(eigen);

(%0181) C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/matrix/eigen.mac

(%1182) ncharpoly(mtx,t);
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(%0182)
t -3t +t+2

(%1183) eigenvalues(mtx) ;

sqrt(5) - 1 sqrt(s) + 1
(%0183) (- - ) mmmm———————— » 21, [1, 1, 111

(%1184) eigenvectors(mtx);

sqrt(5) - 1 sqrt(s) + 1 sqrt(6) - 1
(%0184) [[[_ ____________ s TTTTTT T s 2] s [1, 1, 1]] s [1’ T T Tm e s
2 2 2
sqrt(5) + 1 sqrt(5) + 1 sqrt(5) - 1
———————————— 1, i1, -, - ————————---1, [0, 1, 0]]
2 2 2

gobs0000000000000000D00O0Oeigenvalues 000000000000 ODOOODOO

(%1185) mtx:matrix([2,-2,5,8,-3],I[1,4,3,2,7]1,[5,7,-4,0,4],[6,3,6,9,2],[5,8,9,1,5]);
[2 -2 5 8 -31
[ ]

(1 4 3 2 7]
L ]
(%0185) [6 7 -4 0 4 ]
[ ]
[6 3 6 9 2 ]
L ]
[6 8 9 1 5 1]

(%1186) eigenvalues(mtx) ;

SOLVE is unable to find the roots of

the characteristic polynomial.

(%0186) [

gbobooboooooobooooboboooon

(1) 0DOO0OD0OO0OU0OD0OO0OO0OO0OO0OUOOload(newton); O load(nchrpl); 00 0OOO0OOOOOOOODOOOO
(2) n:length(mtx); 0O0O0O0D0OUOOODOOOOO

(3) c:ncharpoly(mtx,x); 000000000000

(4) t:sqrt(sum(sum(mtx[i,jl"~2,i,1,n),j,1,n)); OOOOOOOOOOOOO

(5) plot2d([o,c],[x,-t,t]); O00O0OO0O0ODOOO0OODOOD sOO0O0ODOOOOOOOO

(6) a:mnewton(c,s); 00DOODOODOOOOO

oboooboooobooboobooobooooooboooboooooooooboooOooooon
gobooboooobooooooobooobooooobooboooboooooooooooon
goooooooooobobooooboooo
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5.6 OUOOOOO

goooogao

(1) 000 [1-t1+t1-¢41+ 000 p00000000000000 3000000000
(2) 00D pO00D030000000000000p0000 1+#000000000000

(3) 000 [L1+t1+t+t21+t+t2+¢3) 000 ¢000000000000000 pO0000 ¢0O
Doooooo

(4) makelist 000000000 O0OU0OOOCOOOOOOUOOOOOOUOOOOOOODOOOOOO
gooooo

(5) 50000 00O 10000 0000000000C0OOOUCOOOUOODOOOUOOOUOOOUOODOOOO
0000000000 10000000000 0Maxima 00 random(10000) OOOOOOOO

goodoooog
(1) 0000 v, =(2.62,—-0.12,1.21), vo = (2.66,—-0.44,2.12) D000 01.27v; —0.92v, OO OOOOO

(2) 0000 vy =(9+vV59-v53V2),va=(5—-+55++52)000000000 v,,v, 0000
0000000000 0000000000 (000 100000)0000000

(3) 00020000000 vy,v, 000000000000 #00000v;-vy = ||v1]||v2]|cos(8)
000000000000000000000200 300000 vy =(-1,0,2), v =(0,—1,3) 0
3000000000000000000

1

(4) DDDOABDDDSDDDDDD615§DDDDDS=§@Zx§EDDDDDDDDDDDDD
0000000000000000030 O =(0,0,0), A= (1.12,0.37, —0.88), B = (1.71,0.64, 0.95)
0000000000000000

gobooo

(1) OO

t—1 1 t
A= ,B = 0
0 —t 1—t —1
0000024+ 3B, AB—BA, A+ B> 0000000

(2) OO

—-2.87 036 —-2.78 —-290 -0.22
-1.95 -1.69 056 —287 -1.67
—-0.47 021 =271 0.60 1.99
1.01 1.52  —-1.79 1.54 1.35
—-1.06 —-192 -2.86 -—-1.15 0.24

gboooboooooooboooon
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gs0
go

1.51 148 —0.81
—245 —-1.17 =221
-230 -212 1.74

gbooobooboobgobooboo

ogooon z, =5xp,—1 —6bxp—2+2,z:=1,2o=200000000000000

0O
2 -2 5 8 =3
1 4 2 7
5 7 -4 0 4
6 3 6 9 2
5 8 9 1 5

gbooobobooooooo

gooooo



69

el UOUUOUOLoUod

gboboboobobobobobooooboboboboboboooobooobobobooboooo
gboboooooooboobobobobobooobobobooooooboboboobobobg
0000000000 Maxima OOOOOOOOOOODOOODODOOOOOOOODDOOOODOOOO
Oo000O00DbOO0O00DOO00DbOO000bO00bO0O00O00DbObO0DO0O0DbOO000DOMaxima OO0
gogooooboboboobobobobobooobbobobooobobboboboobobobg
gboooboobooboobooboobooboobbooo

6.1 0U0OOOO

Maxima OO0 0O0O0O00OD0O0OO0O0OO0O0OOOO0OOOO0OOOOO0DO0ODOODOODOOOOOOOOOO
oooooboooobobood

(1) DO0O0O0O0O0O0O0O00O0ODO0O0O0O0DO0ODO0O0O0DOO0OO0ODOO0OOODOD

(2) 0OO0O0OODOOOUOOOOOOOOOUOOOO0OOOOOU0OOOOOUOOOOOOOOO

(3 0OO0OOO0O0OUOO0O0OOO0OU0OOO0OUODOOU0OODOOUOOOOOOO

(4) DOOOOOO0OOO0OO0ODO0OO0ODOODOO0OOO0ODOOOODOOOOODOD

(5) DOO0OO0O0O0O0DOOOO0DOOO0O0OU0DUOO0O0O0DDOUOO0DmMOOO0O0OOOO0OOUDOD
gooo

gboboobooboobooboobobbobbobbooboobob oboboobooboan
O000000000o0oo0o0oooDoD0oO000000Maxima 0O0O0D0OODODODOOOOOOOOOOO

‘realpart([]D[]); ‘

O

‘imagpart([]D[]); ‘

gooooOoOoOooOoOOODOOOOOOOO
(%1187) mycomplex(z) :=ratsimp(realpart(z)+imagpart(z)*%i);

(%0187) mycomplex(z) := ratsimp(realpart(z) + imagpart(z) %i)

(%1188) mycomplex(1/(3+2%%i));

(%0188) e _
13

gboboooon 000000000000 0000Db00D000bOO0ObOobOOo0b00obOobbOoDn
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6.2 U000

gbobobobooobooooooooobooooooooooooooboooooboooooboOoobooonoag
o0 0oooobobist00oobboonog

if 000 then DOOD0O0ODO else UOOODODOO;

coooomoooooboooooodooooooooooboooooooooooon

ocooooooooooboooooboooobobOOoOooOobo0oobobooobOoOooobOnO0 oooooooo
00000000 integerp, UOOUOODNO evenp, 1OODOUODO oddp, 1O OOOMO primep, O OO
000 ratnump, 000000 listp, UOOOO0O0O matrixp 00O O00O00O0O0O00O0O0O0O0OO
0000 =000000000 #, 000000000000 <,>>,<=000000

coooboooooooboooooobooooobooooobooOooooOboOoOoooDoboOoooDbooon

ocoooooooooooooooboOoOoboOobOOoOoooooooooobOOoObbObOOoOoOoooooon
oooooooobooooo

U001 and OO0 2 and ...

gbooooboobobobobobobooboobon

U001 or OOO 2 or ...

0000000000000 p0 p+20000000000000000000000000000
0000000 mytwinprime 0O O00O0O

(%1189) mytwinprime(num):=if primep(num) and primep(num+2) then "twin prime";

(%0189) mytwinprime(num) := if primep(num) and primep(num + 2) then "twin

prime"

(%1190) mytwinprime(11777);

(%0190) twin prime

(%1191) mytwinprime(11779);
(%ho191) false

U0O00D0O0Oelse0000D0O00O00ODOOOOOO0O falseOOOOOOOODOO
"53000007” 000000000 DOOO0O0ODOOO0O0ODOOOOOOO0ODDODOODODODODOODObOD
gbooobo0boobuooboobd mydiagonal DODOOOOOO

(1)DDDDDDDDDDDDDDDDDDDDDDprimepDDDDDDDDDDDDDDD
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(%1192) mydiagonal(lst):=apply(matrix,
makelist(
makelist(
if i=j then 1lst[i] else O,
i,1,length(1st)),
j,1,length(1lst))
)3

(40192) mydiagonal (1st) := apply(matrix,

makelist(makelist(if i = j then 1st else 0, i, 1, length(lst)), j,

i
1, length(lst)))

(%i193) mydiagonal([1,2,-1,-21);

[1 0 0 0 1
[ ]
[0 2 0 0 1]
(%0193) [ ]
[0 O -1 0 1
[ ]
[0 O 0 -21]

Uo0o00b00b00b000if, then, else 0000000 DOOO0DOO0O0DOOO

gboobooobob 30b000buobb0biobbdbelsed 000D if00000O0OO0O0O0DOO
000000000 oDb em0000D0 kgeOOOOOOODOOOOOOODOOOOOODOOOOOO
00000000000000 A(em),000 w(kg)DDDDm%ﬂDDDDDDDDD 185000

gbooobO0o1s00 250000000002 0000000000000000

(%1194) mybmi(h,w):=if 10000*w/h"2<18.5 then "thin" else
(if 10000*w/h~2<25 then "normal" else "fat");

10000 w
(ho194) mybmi(h, w) := if -——————- < 18.5 then "thin"
2
1000(1)1 w
else (if --—--——-- < 25 THEN "normal" else "fat")
2
h

(%i195) mybmi(167.4,58.2);

(%0195) normal
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000000000000 0000000Maxima 00 Microsoft Excel 0 INT O FLOOR OO ODOODO
0000000D0D00000000000000 7truncate 10000®00000000000O00OO
00000000000 00000000000000 0000000DoDooooo®ooon if O
o0o00o0b0o0 «. 000000000000 000 myint ODOODOOOODO

(%1196) myint(x):=if x>=0 then ?7truncate(x) else 7truncate(x-1);

(%0196) myint(x) := if x >= 0 then truncate(x) else truncate(x - 1)

(%i197) myint(3.14);

(%0197) 3

(%1198) myint(-3.14);
(%0198) -4

gbobgoboobobobobobobboboooooboboboboboboboobobobon
gboooooboooooboboobooboooobobooooobooooa

(%i199) myint(-3);
(%0199) -4

gobo0obobobodz 000000000 if000b000bC00bO00b000bO0OobO0O0Dbo0O00n
googooo

(%1200) myint(x):=if x>=0 then ?7truncate(x) else

(if integerp(x) then x else 7truncate(x-1));

(%0200) myint(x) := if x >= O then truncate(x)

else (if integerp(x) then x else truncate(x - 1))

(%i201) myint(-3)
(%0201) -3

gbboobOoboboobooboobobobooboobOOoboboboOob0OOd truncate DO0O0OOO0O
O000oooooDoob22/7000000000000000 %pi00000000O0ODDOOCOOOO
ooo

(%1202) myint(22/7);

)00 ? 00 truncate 0 Maxima 00000000 Maxima 0000000000 LISPOO000O0O0O0000O0OO000O
()D0D0O?truncate(d 00, 00); 0000000000000 00O0O00O000000D0O000O000000 1000
go0oo0ooooO0O0O00000O0OOO00O00O00000O0DOO0OO



6.3. DO0OO 73

Maxima encountered a Lisp error:

Error in MACSYMA-TOP-LEVEL [or a callee]: ((RAT SIMP) 22 7) is not of type (OR
RATIONAL
LISP:FLOAT).

Automatically continuing.

To reenable the Lisp debugger set *debugger-hook* to nil.

(%i203) myint(%pi);

Maxima encountered a Lisp error:

Error in MACSYMA-TOP-LEVEL [or a callee]: $%pi is not of type (OR
RATIONAL
LISP:FLOAT).

Automatically continuing.

To reenable the Lisp debugger set *debugger-hook* to nil.

Ub0o00bo0bddz0 float DOOD0OOO0D0OO0DOO0DOODOOODODOODOO

(%1204) myint(x):=if x>=0 then ?7truncate(float(x)) else
(if integerp(x) then x else 7truncate(float(x-1)));

(%0204)  myint(x) := if x >= O then truncate(float(x))
else (if integerp(x) then x else truncate(float(x - 1)))

(%1205) myint(22/7);

(%0205) 3

(%1206) myint (%pi);
(%0206) 3

obooobooooon

6.3 UOOO

gbobooobooooooooooooooooooooooooooboooobOobobOobonba
gbooooobooooobobooooboboooboboobooobooboooooboOooboobooonn
oboboobobo0ooboob0oooobobooboobobO0dfor, thru,do 00000 ODOODOO
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for 0O0O000:000 step OO thru 000 do(ODOOOODOO);

gbooooDOon stepdbO0000O00O0O0O0O0O0OODO i:iv10000000000O0COOOO
UO0do0O0ODOO0O0O0O0DOOOOODOOOOOOOOODOOOODOODOODOOOOODOOOODOOn
gooooob 0000~ 0OO0O0O0O0ODOODbObObOODO

(%1207) mtxpow:ident(2);

[1 01
(%0207) L ]

[0 1]
(%1208) mtx:matrix([1,1],[1,0]1);

[1 1]
(%0208) L ]

[1 0]

(%1209) for i:1 thru 100 do(mtxpow:mtxpow.mtx) ;

(%0209) done

(%1210) mtxpow;

[ 573147844013817084101 354224848179261915075 ]
(%0210) [ ]

[ 354224848179261915075 218922995834555169026 ]

gboboobOooobOobooobobooobooooboooobOobo0obOobdgbdefor, while,do OO0
oooooobo

for 0O0O000:000 step 00 while 000 do(0OO0O000O);

gbooooDon stepd00000O00O0O0O0O0OO0OO0ODO i:iv10000000000O0COODOO
oooooooooooobooO0o0oooooboO0 ¢; 00000000 ooo0obobObo0o00oooo0oo
obobo-10000b00o0ogooo

(%i211) for i:1 while d[i-1]#-1 do(d[i]:read("No.",i,":"));
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No. 1

2.231;
No. 2

0.965;
No. 3

-1.478;
No. 4

_1;

(%0211) done

(hi212) d[2];

(%0212) 0.965

64 0UO0OOOO

goboobobOooobooboooobooooboooOoobooooOoboooooboooboooboooooa
goboooboooobobooboboobooOooooooooboooboocobooboOoobOoooboooobooOoon
ooooooboooobobbooobD obobo

block([DOOODODOOO], 000000 ,return(0000));

ogooooad

googobooobooboobooboobooboobbooboobOO0n mystatisties DO OO
oo oooooobo
O pO
Z?:ldi

n

u:
gboooboon o4

Z:‘L:1 (d;i — N)Q

n

O-:
00000000 s0O
Z?=1(di_ﬂ)2
n—1
0000000000000 000000O0b0000 oObOoOoOooOobOOoO0oOoooOo1000b00000
0000000000000

S =

(%1213) mystatistics(flag) :=block([d,n,m:0,v:0],
for i:1 while d[i-1]#-1 do(d[i]:read("No.",i,":"),n:i-2),
if n<2 then return("false"),
if (flag#0 and flag#1l) then return("false"),
for j:1 thru n do(m:m+d[jl/mn),
for j:1 thru n do(v:v+(d[jl-m)"2/(n-flag)),
print("average : ",float(m),", stdev : ",float(sqrt(v))),

return("done"));
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(%0213) mystatistics(flag) := block([d, n, m : 0, v : 0],

for i while d # - 1do (d : read("No.", i, ":"), n : i - 2),
i-1 i
if n < 2 then return("false"), if flag # O and flag # 1
d
N
then return("false"), for j thrundom : m + ——,
n
2
d -m
J
for jthrundov : v + ————————- ,
n - flag
print("average : ", float(m), ", stdev : ", float(sqrt(v))),
return("done"))
(%i214) mystatistics(0);
No. 1
2.231;
No. 2
0.965;
No. 3
-1.478;
No. 4
-1;
average : 1.598 , stdev : 0.633
(ho214) done

oco0O0o0oooooOoO0O0o0o0ooooOoOO0oO0o0oOooOoOOO0OO0oO0oOooOOOO0OO0O0oOoOoOoOoOooooOOOn
ocob00o0o0oooooOoOOoOOoO0oO0ooooOoOOOoOOoOOO0OO0OO0OOOOOOO0OO0OO0OOOOO0OboOn
O mystatistics D0 O0OO0O00O000DO0 4,n,m, vOOOOOOOOOOOODOOOODOOOODOO
U00Omystatistics OO0 OO0OO0O000O0O

(%1215) wv:isqrt(-1);

(%0215) %i

(%i216) mystatistics(0);

No. 1
2.231;
No. 2
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0.965;

No. 3

-1.478;

No. 4

-1;

average : 1.598 , stdev : 0.633

(%0216) done
(%i217)  v;
(%0217) %i

Uob00ob00o0b0 vOOOmystatisticsOOODODOOODOO0O0O000O0O00OO00O000O0O0ODOODODOO

6.5 UUUoogogda

Maxima OO0 O0O0O0OO0O0O0OO0OO0O0O0OOOO0ODOODOODOO0DOODOODOODOODOOOOOOOOOO
gboboobooboobooboobooboobobbobboboobooboobooboon

6.5.1 OUO0OOOoOO0O

boooboooobobobooboobooooboooooobobooonoag

save("OOQOQOO",all);

0000000000000 000000000000Maxima 0000000000000 O0000OO
000000 o0ooooooooooooo®

save("OOOOO",%inn,%onn,...);

ooooooooooobD yi00ooo00oooooDUY%e000ODOOODOODODO0OOOOODOO
gbobodb0d sn 0000000 DOODDOOO
obooobobooooobooooboboooobooDbo

loadfile("O00OOOM™);

gobooboobooobbooboooboooobooboooooooboooobooooboooOooonon
gbooobooooooobobooooao

playback(all);

M) Maxima 5.9.0 00 0000000000000000C cen000000 Don 00000000000 00000000000CO
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gbooobooboobobobooboobooboon

playback([00O0000,0000001);

gbooobooooboobood

playback UOUOOOO0O0O000D0O0D0O000DO loeadfile 00000000 OD0OO0OOOOODOODO
gbobgoboboboboooboobobobobboobooooooobooboboboboboboboooo
0000 Giny 0000000000000 o00oo

6.5.2 UUUO0OO0OOOOOO

save 10 0000000000000000000000000 MaximaOODOOO®OOOOOO
O0OMaxima OOOODOODOO0D00ODOO0D0OOD0DOODOODOODOO Cale O Microsoft Excel DOODOO
000000000000 esv000DODOOODOO0O0OODOOesvy O000O0OOComma Separeted Values 0
000o0oooooo0ooOo0o0ooooDooo0ooOoOO00ooooooooDOooOoOoODoOOoOOOoOg
0000000000000 0000000esvOD0D0OD0ODODODODODODODOOODOO
ooo

L a8 [c[D]
0.84 | -0.38 | 2.75 | 2,51 158 1.19, -2.27, 111

1.58 | 1.19 | -2.27 | 1.11 0.6, 1.64, 2.65, 2.49
20.69 | 1.64 | 2.65 | 2.49 917, -L77, 176, 0.28

217 | -1.77 | 1.76 | 0.28

-0.84, -0.38, 2.75, 2.51

Wi

O0OO0OMaxima 0OOOOOOODOOOOOOUOOOOUOOOOOODOODOOODOODOOOOUOUOOO
000ddUooooooooooUoU0o0ooooOo0O0oO0o0oO00O0O0U000OUOOO0OUODOoOoOOOOO
gddodouooobooboddobouoobboouoouooobo oo booboUoooDoDbOo
gdoodoodobooouobodobbbobdouoooobobooob oo obOoobooUuonDo
Linux 0 MacOSOODOOO

load("/usr/share/maxima/5.9.2/share/contrib/numericalio/numericalio.lisp");

00000000 Microsoft Windows OO0 OO0
load("C:/PROGRA~1/MAXIMA~1.2/share/maxima/5.9.2/share/contrib/numericalio/numericalio.lisp");

gbooobood obbO0desvDOOODOOOODOODOODOODO

read_list("OOOO0O", csv);

gbooobooooobooDbo

() Common LISP 00000000 Maxima D00 LISPOOJ0O00000Emacs LISPOOOLISP 00000000000
gooooooOoOO0Ob00000ooooOoOOO0O0000oooooDo
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read matrix("OOOO0O™", csv);

obooobOoboooobon esvOooooooooobono

writedata(O OO ,"O00000",csv);

ooooobooog
Ub00000000000 C:¥home¥matrix.csvUOOOOOOOOO0OOODOOO0OOOO0O0OOOOO
gbooobOoboooooboboon 1st0b0oboooooon

(%1218) 1st:read 1list("C:/home/matrix.csv",’csv);

(%0218) [- 0.84, - 0.38, 2.75, 2.51, 1.58, 1.19, - 2.27, 1.11, - 0.69, 1.64,

2.65, 2.49, 2.17, - 1.77, 1.76, 0.28]

gboobobooooobOoobotdb0D mxO000O0O000O00DO

(%1219) mtx:readmatrix("C:/home/matrix.csv",’csv);
[ -0.84 -0.38 2.75 2.51 1]
[ ]
[ 1.58 1.19 -2.27 1.111]
(%0219) L 1
[-0.69 1.64 2.65 2.49 ]
[ ]
[ 2.17 -1.77 1.76 0.28 ]

Uobb0o0bb000000 mex O 10 O0O0OC:¥home¥tenth.csv OO OOO0O0OO0D0OOO00OO

oooo
(%1220) write_data(mtx~~10,"C:/home/tenth.csv",’csv);
(%0220) (false, false, false, false)

gboooboboooooboooooobooooboboobooboboooooboOooooonon

| A B C D
1 || 264557 | 91681.79 | 1292301 | 973105.6
2 || 26895.85 | 12995.93 | 97926.4 | 81217.32
3 || 272930.7 | 102493.4 | 1350931 | 1016299
4 || 248792.7 | 83024.34 | 1220861 | 920140.4
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6.5.3 UUUO0OOODOOO

0000000000000 0D000000000D000000000D0000000nononooo
0000000000000 DD000000000DDD00000000000DoDo000o0o0ooon
dooo0oooooooooooog

O0O0OMaxima 0000000000000 DDOOOO0O0O00O0DDOOOO0O0OOODOODOOO
000000000000000000000 Maxima 00000000000 0000000DOOOO
0000000000000 0000000000000000000000000000000000
000000000000 000000000000000000000oonoooononoonooonog
0000000000 300000000000Exeel 0000000000000 O0OO0
000000000000ev 0000000000000 0D000O00000ODOOO0OO00®ooO
O00000000000000D000 C:¥home¥geomean.csv J OO O=RAND() O (0,1) 000000
00000000000000000 100 x30000 3000 000000000000 Microsoft Excel
00000000000 =GEOMEAN(OOO0OD) 0000000000000 0000000000 000
goo®™g

000000000 st 0000000000000000

(%1221) 1lst:read 1ist("C:/home/geomean.csv",’csv);

(%0221) [0.524791999, 0.83770885, 0.349946256, 0.033510978, 0.322640717,
(oooooooo
0.882640526, 0.623933517, 0.862401784, 0.859252114, 0.926337907, 0.775912364,

0.446657813]

gboboooobobobooooboooobobooooooobooboboooooobOoboo oonboOoDo
gboooooboooooboboooooo

(%1222) mygeomean(d) :=block([err:1,i],
for i:1 thru length(d) do(if d[i]=0 then err:0),
if err=0 then return("Non-positive data exist.")
else return(float(exp(sum(log(d[i]),i,1,length(d))/length(1st)))));

(%0222) mygeomean(d) := block([err : 1, i],
for i thru length(d) do (if d <= 0 then err : 0),
i
if err = 0 then return("Non-positive data exist.")
sum(log(d ), i, 1, length(d))

1

(®)DDOo0000000000000000000000000000NDN0N0000N0N0N000NN0ND0ON0N0NNNNooOon
go0oooooOoOO0OO0O00000O0O0OOO0000000O0O0DOO0Ob0b0000o0
(MoO0000000000000000000000000000000000000000000000 00000000000
00000000000 00000000000000Microsoft Excel 000000 LNODOODODOO=EXP(AVERAGE(D 0D 0O))
o0o0o0oOoOD0O0O0O000000o00
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else return(float (exp(- - =)
length(1st)

(%1223) mygeomean(lst);
(%0223) 0.36896294490398

000 1I:IDEIIZIIZIlEIIZIDI:II]DDDDDDI:II]DDDDDDDDDDDDDDDDDDDDDDDD
oooooobO0oOd —=036787944117144 000 00000O0O0O0OO0ODO
e

6.6 UJUUoon

(1) 0D0O¢t000000000D0O0000D0O00O000000O0 mysound 000000000 0O0OOO ¢
oboooboo 33154061 0000000

(2) 1925000000000000000000000000000O0DO0000D myeras0O0O0O0ODO
gboooboboz200100000 1340000900000 wO0000000

(3) 20000 2= f(z,y) 0000000 [2,9) 0000000000000 mycritpts 00000
0

Oooooooo z:f(x,y)DDDDEI%: =00000 (25,4 000020000

gz
Ox " Oy
(xivyi;f(miayi)) agooooo

(4) 0OO0OUOO ¢,000000 «o000000000O0O00O0O00O0O mydiscomfort J00OOODO
000000000000 40 i=406+0.72(c1+¢c2) 0000000

;<700 0000ODOO

e 0L« 0IDOOOOODOO
e 75 <i<8000DO00O0OODOO
e300 0000ODOOODO
gooooo

(5) Maxima O 999 0000000000 OOOOOOOOOCOOOOOOOOUOOOOOOOOOOO
U0o000bo0000 mybigsmall DOOOOODO

(6) 20000000000000000O0O0OUDODO myintersection J00OOOOO
(7) 2000000000000000U00O0O00O0 myuwnionO00O0OOOO

(8) csvO0OODUODOOOOODOOOUOOUOOOUDOOUOOOOOUOOOOOOUOOO mycolumn
goooboo

(9) readmatrix00000000000C0O0OO0O0OOOUOO0OOO0O0OOOOOOODOO read_list
Ubob00b000O0esvOOO0O0O0OO0ODOO0O0DOO0O0DOOO0O0OO0O0O000DO00 myreadmatrix O0O0O0O
ooo

(10) 400 csv0OOO0O0ODOUDOOOODOODOOOUODOOOOD 3000000000O00O0OOOOODO
U 600 esvUODOODODOO0DODOO mysolver DO OO0OODOOOO0DOOOO0DODOOO
gbooobobooooboooooobooooobooo
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[0 OA Mathematica 00 Maxima []

OO00000DO0CO00DODOO000O0O00DODOO00 Mathematica OO0O00O0O00D0DOO Maxima 000
gbobgooobdobobooooooboboboboooboboooooboobobonooooooooo
OO000000000000D Maxima 9200000000000

Al DOOO0OO

‘ Mathematica Maxima
a+b a+tb;
a-b a-b;
a*b ax*b;
a/b a/b;
a"b a"b;
Sqrt [a] sqrt(a);
N[al float(a);
N[a,b] fpprec:n;
bfloat(a);
A2 OO
A.2.1 O0O0OO0OO
‘ Mathematica Maxima

Solve[f [x]==g[x],x]

solve(f (x)=g(x),x);

Solve[{f==g,h==k},{x,y}]

solve([f=g,h=k], [x,y1);

NSolve[f==g,x]

expand(float (solve(f=g,x)));

FindRoot [f (x)==g(x),{x,a}]

load(newton);

newton(f (x)-g(x),x,a);

A22 000000

‘ Mathematica Maxima
Expand [f [x]] expand (f(x));
Factor[f[x]] factor(f(x));
Together [f [x]] ratsimp(£f(x));
Apart [f [x]] partfrac(f(x));

Cancel [f[x]]

ratsimp(f(x));
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A23 00000

0 O A Mathematica 00O Maxima 0O

Mathematica Maxima
Simplity [£ [x]] ratsimp (£ (x));
FullSimplify[f [x]] fullratsimp (f(x));
A24 0O0OO

‘ Mathematica Maxima
a+b*I at+b*i;
Re[z] realpart(z);
Im([z] imagpart(z);
Abs[z] cabs(z);
Arg(z] carg(z);
Conjugate[z] realpart (z)-imagpart (z) *%i;

A3 000000
A3.1 000000000

‘ Mathematica

Maxima

{a,b,c}

[a,b,c];

{{a,b},{c,d}}

O00:[[a,b],[c,d]];
00 matrix([a,b], [c,d]);

Table[alil,{i,p,q}]

makelist(a(i),i,p,q);

Tablelali],{i,p,q,r}]

makelist(a(p+(q-p)*r),i,1,(q-p)/1);

A32 00000

Mathematica Maxima
a.b a.b;
Cross[a,b] transpose(adjoint (matrix(a,b,[1,1,1]1))) [3]
Outer[f,a,b] outermap(f,a,b);
Tr[al load(nchrpl);
mattrace(a);
Det [a] determinant(a);

Inverse([al

invert(a);

Transpose [a]

transpose(a);

Eigenvalues[a]

load(eigen);

eigenvalues(a);

Eigenvectors[a]

load(eigen);

eigenvectors(a);
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A41 0O0O0O0O
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‘ Mathematica Maxima
Sin[x] sin(x);
Cos[x] cos(x);
Tan [x] tan(x);
ArcSin[x] asin(x);
ArcCos[x] acos (x);
ArcTan[x] atan(x);
TrigExpand [f [x]] trigexpand(f(x));
TrigReduce [f [x]] trigreduce(f(x));
A4.2 O00O0O0O
‘ Mathematica Maxima
Log [x] log(x);
Log[10,x] log(x)/log(10);
Exp [x] exp(x);
A4.3 O0O0O0O0O
Mathematica Maxima
Sinh[x] sinh(x);
Cosh[x] cosh(x);
Tanh [x] tanh(x);
ArcSinh[x] asinh(x);
ArcCosh[x] acosh(x);
ArcTanh [x] atanh(x);
A5 0O0O00O0O
Ab5.1 O0O0O0O0O
‘ Mathematica Maxima
D[f[x],x] diff (f (x),x);

Integrate[f [x],x]

integrate (£f(x),x);

Integrate[f[x],{x,a,b}]

integrate(f(x),x,a,b);

Sum[x[k],{k,a,b}]

sum(x (k) ,k,a,b);

Product [x[k],{k,a,b}]

product (x(k),k,a,b);

Limit [f [x] ,x->al

limit (£ (%) ,x,a);

Series[f[x],{x,a,n}]

taylor (f(x),x,a,n);
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Ab.2 00000

0 O A Mathematica 00O Maxima 0O

‘ Mathematica

Maxima

DSolve[f [y [x]]1==0,y[x],x]

desolve (f (y(x))=0,y(x));
000 ode2(£f(y(x))=0,y(x),x);

DSolve[{f==0,g==0},y[x],x]

desolve ([f=0,g=0],y(x));

DSolve[{f==0,y[0]==a},y[x],x]

atvalue(y(x),x=0,a);
desolve(£f=0,y(x));

A53 OO

Mathematica

Maxima

LaplaceTransform[f[t],t,s]

laplace(£(t),t,s);

InverselaplaceTransform[g[s],s,t]

ilt(g(s),s,t);

FourierTransform[f [t],t,w] load (fft);
fft(£(8),t,w);
InverseFourierTransform([g[w] ,w,t] load(fft);

ift(£(t),t,w);

A6 OOODOOO
A6.1 0000

‘ Mathematica Maxima
Round [x] ?round(x) ;
Mod [n,p] mod(n,p);
GCD[a,b] gcd(a,b);
LCM[a,b] lcm(a,b);
FactorInteger[n] factor(n);
Rationalize[x] ratsimp(x);

A6.2 O0O0ODO

Mathematica Maxima
n! n!;
Bessell[v,z] bessel_i(v,z);
BessellJ[v,z] bessel_j(v,z);
BesselK[v,z] bessel k(v,z);
BesselY[v,z] bessel_y(v,z);
Erf [x] erf(x);
Gamma [x] gamma (x) ;
Zetal[x] zeta(x);
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A7 DOOOOoOO
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Mathematica

Maxima

Plot[y,{x,a,b}]

plot2d(y, [x,a,b]);

Plot[{yl,y2},{x,a,b}]

plot2d([y1,y2], [x,a,bl);

ParametricPlot [{x,y},{t,a,b}]

plot2d([parametric,x,y], [t,a,bl);

Plot3D[z,{x,a,b},{y,p,q}]

plot3d(z, [x,a,bl, [y,p,ql);

ParametricPlot3D[{x,y,z},{s,a,b},{t,p,q}]

plot3d([x,y,z], [s,a,b]l, [t,p,q]);

ListPlot [x]

openplot_curves (x) ;
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O UB 0OO00000oood

B.1 Maxima OOOOOOO

U000 Maxima OO OO0O0O0OO0O0DO0OO0O0OO0ODOOODOOOODOOO20050 10000000000
OO0 Maxima OOODOOOO 592000

B.1.1 Linux O0QO0O

http://sourceforge.net/project/showfiles.php?group -id=4933

U rrpm 000000000000 O0OOOOOOOODOOODOOOOOODODOODODODODOGCL 5.9.2 0
XMaxima 5.9.2 0000000000000 O00OO0OOO0O0O0OO0OO0OCOO0OOOOO0OOODOOOO
obooooooooooboo

# rpm -ivh maxima-5.9.2-2.1386.rpm
# rpm -ivh maxima-exec-gcl-5.9.2-2.i386.rpm

# rpm -ivh maxima-xmaxima-5.9.2-2.i386.rpm

000 Maxima 00000000 O0O0O0O0O/.bashrc 0000000

alias xmaxima="xmaxima > /dev/null"

0oooo0oooooooooo
000CD-ROM 000 Linux 00 00KNOPPIX O000KNOPPIX/Math 00000000000
000000000000Maxima 5.9.1 0000000gnuplot 0000000000000000O0OO
O0DO0O0O0PC/ATOOO0DDOOOBIOSJ0OOO CD-ROM bootable 00000000000 000
goooooo®Mg

Linux ZAURUS 00O

OCO0O0OD0O0OCOOSHARPOOOOOODDOOUO LinuxOOOODOOOOZAURUSSLOOOOO
U0000000 Maxima 9.0000000000O0ODODOOOOODOOO

http://web.njit.edu/ " rxt1077/clisp-maxima-zaurus.html

Mpooooo000000000000000000 KNOPPIX/Math 000000000
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good

clisp-maxima-zaurus.tar.bz2

O0O0DODO0O0000D0ODOO000 1isp.run0 /usr/local/bin 0 Omaxima-clisp.mem O /home/zaurus
00000000000®0000 Maxima 000000000000O0OO /home/zaurus/.bashre 0 [
ooooo

alias maxima=’lisp.run -M /home/zaurus/maxima-clisp.mem’

000000000®0000000000000 Omexina 00000000000 Maxima 000
0000000000

0000000000000 0Oplot2d0 plot3d 0000000000000 0 [plot_format,gnuplot]
00000000 gnuplot 0000000000000 000000000000000000

B.1.2 MacOS X O0OO

00 MacOSX OOODOOOOOODODOO0ODODOO0ODODOO0OODOODO0OWOODOOO0OD0OD000000000
000000000Lnux OO0 Maxima OOOO0O0O00O0O00OD0O0OO0DOODOODOOODOOOODOOOOOO
MacOSX O Maxima 592 0000000000000 O0OO0OODOOO0OOOOOOODOOODOOOOO
Maxima 5.9.1 000000

ooooooooog

% which make

gooooocoooooooooOoOoOooOoooooOoODOOOn

/usr/bin/make

Uo0bo0oobo0o0D0o0bboooodDMaxima OO OOOOOODOO cLIsPO0O0O0OD0OOODOOO
00000000000 DO1ibsigsegv 2.1, readline 5.0, gettext 0.14.1 0 000000O0O0OO
ocooooogoo

ftp://ftp.gnu.org/pub/gnu/libsigsegv/

pUDoU00000000000 SDODOODOONDOO00DOONDOODOODOONONOONDOONDOODOO00NoOno
goo0oo0oooooOo0O000 sMBOOOOOOOOOO /home/zaurus 00000000000
(S)SDDDDDDDDDDDDDDDDDDDDDDDDDD/mnt/card/maxima—clisp.memD /mnt/cf/maxima-clisp.mem O
000oo0ooooooooooo
4pooo0DO00000000000000000000000000000000000000000000000



B.l. Maxima 0OOD0OODO0O 91

U0 1libsigsegv-2.1.tar.gz 0O UOO0O0OO0OO0O0D000O0O00D0O0OO0OO0O0OOO

% ./configure

% make
% sudo make install
O 1libsigsegv 2.1 0000000 OOOOO0OO

ftp://ftp.gnu.org/pub/gnu/readline/

00 readline-5.0.tar.gz U0 OOO0O0O0OOO0OO0OODOOO0OOODOOOOOOOO

% ./configure

% make
% sudo make install
0 readline 5.0 00000000000 0O0O00OO

ftp://ftp.gnu.org/pub/gnu/gettext/

OO0 gettext-0.14.1.tar.gz U0 O00O0ODOO0OO0O0ODOO0OOOOOOOOOOOO

% ./configure

% make
% sudo make install
O gettext 0.14.1 00000000000

gboogdcrispO000OOonOOoonDOOOd

ftp://ftp.gnu.org/pub/gnu/clisp/release/2.33.2/

U0 clisp-2.33.2.tar.gz UDO0O00OOOOO0OOOO0

http://darwinports.opendarwin.org/darwinports/dports/lang/clisp/files/

OO0 patch-src-stream.d DO OO0D00O0OO0OOOCclisp-2.33.2. tar.gz OO OOOOOOOOO
ooo
% cd clisp-2.33.2

% patch -p0 < ../patch-src-stream.d

% ./configure

% cd src

% ./makemake --with-dynamic-ffi --with-readline --with-gettext --with-module=regexp

--with-export-syscalls > Makefile
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% make config.lisp

% make

% sudo make install

O clisp 2.33.200000000000

000 Maxima OO0 00000000 0O00OO0O00O0OTe1/Tk 8.4.90000000000ZXMaxima O
obooooooooobooon

http://tcltkaqua.sourceforge.net/

00 TclTkAqua-8.4.9.dmg UDOOOOO0OOO0OOO0OODOOO0OO0O0OO0OO0OO0OCOOCOOOOOOO
oboooooboooooobooog

http://maxima.sourceforge.net/download.shtml

U0 Mexima OO0 000000000 O0DOOODOODOOOCOODOO

% ./configure

% make
% sudo make install
00000000 oooO0O000o0o0oooooobo0o0o0n XMaxima JOO0OO0OO0OO0OOOOOOOOO

“/.bashrc OO0 0000

‘alias xmaxima="xmaxima > /dev/null"

gbooobooboobood

B.1.3 Microsoft Windows O 0O O

Microsoft Windows 0 0 Maxima D0 000 gnuplot 000000000000 COOO00O0ODOOOO
goooooooooog

http://maxima.sourceforge.net/download.shtml

OO0 Windows 0 O0000OD0OO0OO0ODOOOOOOOO

00000000 DOO00D000000D0DO00D0O00D000D00000 T accept the agreement 0 0 0O
000000000000 Next JDOOOODOODOODOODOODOOODODUSBOODOOODOOO
O7MBOOODOODODOOODOOODOOODOOOOOOOOOOODOODODODOOODODOODODOO
O000000Maxima O gnuplot 00 O00O0D0DOODODOOO

B.2 gnuplot 0000000

000020050 1000000000000 gnuplot OOOOOODO 400000
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B.2.1 Linux O00O0O

ftp://ftp.pbone.net/mirror/www.arklinux.org/1.0-0.alphal2.2/i586/

OO0 0Ognuplot-4.0.0-1ark.i886.rpm O OO0 0O00O0ODOOO0O0O0O0O0OOCOCOOODOOOOODODOO
000000 0O0O# rpm -ivh gnuplot-4.0.0-lark.i586.rpm

obooooobooooon

Linux ZAURUS 00O

http://www.mneuroth.de/privat/zaurus/gnuplot.html

OO00qgtplot 0.2 arm.ipk 0000000000 ZAURUSOOOOOOOOOODOOOOOODOO
googo

B.2.2 MacOS X O0OO

http://sourceforge.net/project/showfiles.php?group -id=2055&package id=1996

U00Gnuplot-4.0.0.dmg U O UODOD0DOODOODOO0OOOOODOOOOOO0ODOODOODODODOODO
obooooobooooon
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0 O0C Ouooooooodd

C.l OOOOoobooooon

Q.1. Maxima U0 OO OO0

Maxima 0000000000000 DO0OO00OD0OO0ODOODO0ODO0ODOOOODOOOOOOOOOOO0
gbooboobooboobooboooboobooobooboobobooboobo

Q.2. Maxima D0 0OO0O00O000O0O

gboooboboooobooooooobooboooon

Linux 0 MacOSX 0000

goooo

which xmaxima

OO00000D0O0OO0O000 /usr/local/bin/xmaxima 0000000000000 O0O0ODOCOOODOO
gboooboooboobgooboboo

xmaxima &

oboooboobooooobooooo

Ubo0oobobboobio0bob0obdbDwhich xmaxima D000 0000000O00DOO0O0OOOOO
OD000 Maxima 0000000 MWO0O00D00000000000O00OO0O0O0O0O0O0O0OOOOO0O0
gboboobOooooooboooobobooooobooooon

‘find / -name xmaxima

O00000000000000 /usr/math/bin/xmaxima 00000000000 OCO0OODOCDOOO
OO00000O000D0ODb000000 . bashec OOOOODODO

alias xmaxima="/usr/math/bin/xmaxima > /dev/null"

goooooooooboooooon

OO00MacOSX OOOOO

Lnx 0000000000000 000000000000000000000000000O0000
gobooooobobooooobobuooooooooo

Moo (pathyDOOOOO
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Microsoft Windows 0 0O 00O

000000000 00000 — Maxima~(OOOODOO) - XMaxima-(ODOOOOO)O0O0000OO

gbobooboobooooboooooooobooobooboooobooobooooooboobobOoDbooDo
goboooobooooobooobooboooooooboboooobooboooboooooooobooooD
Ubboo0OuobO0bOO0000ODOxmaximaexe OO0 O0000O0DO0O0O0O0OO0O0OCOOOO0DOOOO0OOODO
goboobboooobooboobooobooooboooooooboOooboooboooooboooboooon
oooooobooooooboobobooo

Q3. Maxima 0000000 DOOO0OOO0OOOOODOODODODOO

Maxima 5.92 00 0000000000000 OOOO0O eOoMBOODODODOOOOODODOOOO
000000000000 D00000000000000000000®0000000

Q4. Maxima U000 0O00OO00OO00OO0O0OOOOOODOO

Maxima 5.9.2 00000000000 maxima 000 0000000000000 00D0O00OO0O0O0
0000 15MBO000D0O0ODOD0O0ODDOOODOODOODOONOOO0ODON0NONO0oooooon
00000000000 00000D00®ooooooo

Q.5. Maxima 0000000 Out of environment space 0000000000

Microsoft Windows 95/98/98SE 0 0 00000000 OOMS-DOSOOODOOOODOOOOOOOO
0000000000000 0000Maxima-5.9.1 000000 readme.txt 00 O0O0000O0000O0O
goooooooo

() 0000000000[0000]— (000000000000 (R)]000000

(2) 00000000 sysedit000000[0OK] 000000000

(3) 000000000000 D00000000D000000000000 CONFIG.SYSOODOOOOO
00000000000000000

(4 OOODDOOSHELL-00000000000000 REMOOO0O00D000000000000000
OOREMOOOOO0DOO0O00O0O0O0D000000O0O00000

(5) CONFIG.SYSOOOOOODOO

| SHELL=C: ¥COMMAND. COM /E:4096 /P

00000000000000
() 000000 0000 (F)— (00000 (8)]00000on

(7) 0000000000 (0000 (F)]—[00000000000 (X)]00000o0
(8) 000000000 D0DO0O0O0O00

poooOoD0000000000000000000000000000000000000000000000000000
gooooooooooooooooo

(3)Microsoft Windows 000 0000000000000 00000000000D00000O0000O000000000O00n
gooooooOoOO0OO0O000000o0O0OO0b0000000O0O0DOO0ObOb00000000
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Q.6. Maxima U 0000000000 O0OOOOODOODOOO

gobobOobOobobobDobobDoboboooboooOMaxima OO0 0O0O0OO0OO0OOOOOO
O00000oooOOoOoOo0o0ooOooooooDOoOMaxima ODOOOOO CLISPOOODOOOCOOOO
0000000000000 00O0O000Db00000 MaximaOOOOOOOOODDOOOODOOOO
gboboooOooooooboboooboboooobooooboobobooonog

C.2 0OOOO0ODOOOOOobOO
Ql.0000Db00O0O0O00OO0ODO0ObDUObDOobOOoOobDOobDOoDO

0oooo MaximaDDEIIZIDDDDDDDEI+DDDDDDDDDDDDDDDDDDD
0000000000000 0000000000000001.1Maxima 00000000000000
00000000000000Omaxima 00000 0xmaxima 0000000000000000000

Q.2. Maxima 00000000000 ODOODOODOOOOOOO

OO00000000D0 xmaxima 0000000000000 0O0DO0DMaxima O0OO0O0D00OO0O0OO
000000000000 0xmaxima OO0 000000000000 00O0DO0O0OOQOMaxima O OSSO
oood

quitQ;

OO000O0DODOO0000000000000O0OMaxima OD0OD0O0000DODOOOOOODOOO
xmaxima 000000000000 O0OCO0OO0OO0O0O0COODOCOOO0O0OO0OOO0O0OO0O00O0O0O00
O00OMexima DO O0O0OD0O0OODOOOODOOODOOODODOOODOOOOODOODOODODOODO
Oooooooooo0ooooobDbDO xmaxima OO0 00000000 DOOOO0DOOOOODOOOOOO

Q3. 00Db0bO0bboOobooooboOobOoDO

000 XMaxima 000000000 [Option] — [Preferences) 0000000000

O000000000000000000000OThe proportional font is 000 [Arial] 0000000
000000000000 000000000000000000 [Times New Roman] 00000000
000000000 with a size adjustment of 000 [0 0000000000000 OOOOOOOO
O000000o0O0O0O0OD0O0ODO0OO0

0000000000000 00000000000000 The fixed font is 000 [Courier NEW] O
0000000000000 000000000000000000000O0000000 [Terminal] O
0000000000000 000 with asize adjustment of 000 [0)D000000O0000O0COOOO
0000000000000 00000000DO00O0U00O0U0O0UOOUOOUCOOBooDUooOoOo

O000O[Apply and Quit)] DOO0OO0O0OO0D00OOO
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Q4. XMaxima 00000000 0OOODOOOO

XMaxima [0 Maxima 0 Tcl/Tk(4)|:|EIEIEIElEIDDDDDDDDDDDDDDDDDDDDDDDD
gbobooboboboboboooobooobobobobobobooobooboboboboooo
gboooooboooooboboooooo

gboooboooobooowbooooboooooboooobobooobOoooooboobooonoag
gooobooooag

linel:0 00 ;

goooboobooooooo

C3 0DO0O0Oopoboooon

Ql. 00D0000O0DoOonDOg

00000000000 M000000000000000®0000000000 function 0000
0000000000000 function 0000000 function 0000000000000 ®OOD0OON0
oooooooooooooo0ooo0oooooon

Q2. 00000000 ODOODODO0ODO

Maxima 001000 OO0 O00O0D0OO0O0O0OODO0OO0OO0OOOO0ODOOOO0OOOOO0O0OOODOOOO
OO000D00000XMaxima OOOOO000OO0OOO00O0DOOOOOOCO0DODDOOOODOODODMaxima
Primer 0 200000 “documentation” 00000000000 D0OCODOOOOOOOOODOOODO OO
goboboobooboooobboboooobobobooboboobobobboboobobobg
gbobobobobboboboboboobobobobobooboobobbobbobobobo
gooooobo

http://maxima.sourceforge.net/docs/manual/en/maxima.pdf

0Opdf 0000000000000 O0OO0OA4D0 460000000000000000000000
OO0000D0O0000000D0O0Maxima JO0D0OO0O00054000000000000

http://www.bekkoame.ne. jp/ “ponpoko/Math/maxima/maxima toc.html

gboooboobooboobooboobobon

WpopooDoooooooooooon

() DpoDO0ODO000000O00D00000O000000000D0000D000000000000000000000000
00D0000000000000000000000000000000

®ppoooo0Do0D00O0D0DOODO0OoDoOooD
(MooDOo0D0000000000000000D00D000000000000000000000
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Q3. 0b0b0b0oooooooobobobon

gbooooboobooobooboobb»bO00Db0bOo0bOo0Ob0bO0oo0bOo0obOoobboOoon
ggoboboobooboobooboobobbobbobbobn

Q4. Maxima D0 O00O00OO00OD0OOOOOO

Maxima 000000000000D0OCOCOCOO0O0O0O0O0O0OOODOOOO0OOOOO0O0OOO0O0OO
0000000000 (000000000000) 0000000000000 00D00O00D0ooOoOO
gooboboobbooboobooboobub xinntgoooboobooboobobbobbog

oboboobobooooobooooboboobooooo

http://sourceforge.net/tracker/7atid=104933&group -id=4933&func=browse

0000D0000®ooo000000D0oDoo0ooNooo

bug_report () ;

OO000D000 MaximaOOOODOOOOODO

Maxima version: 5.9.2

Maxima build date: 9:5 10/12/2005

host type: i686-pc-mingw32
lisp-implementation-type: GNU Common Lisp (GCL)

lisp-implementation-version: GCL 2.6.7

oboooooboooobooboonogd

Q4. 0000D0OO0OOOOOODOODODODOO

Maxima 00O 1000 000000000000 DOOO0ODOOODODOOOOOOODOO0OODOOOOOO0OOn
gbooobobooboobobooboboobooooobooboobooboboooboobobboboon

C4 0OO0O0OODDOO

Q1. 0000 Maxima U0 OOOOOOOOOO

Microsoft Windows D 0000000000 DODDDDDODDDO0O0®000Maxima 000000
gbooobogooboobon

e CPULOOOOO : 266 MHz

e 00O : 64MB

(®Maxima 00000000000 DOODOODOOOOOO
MpoooO000000000000000000000000000000000000000000000000000000
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e 0DDDDOOD : 2GB
e 00J0DDODODOODN : Vine Linux 2.619

00 Tel/Tk O CLISPOO0O0DO00D000DDO0O0ODOOONODOODDOOM)pDOoooOoOoooo
O000O00D0ODO0O000O00b00O00DO0O0000000Maxima OO0 O000O0OOO0OOCOODOO
goooooo

Q2. Maxima D 0000000000 OOOOODOODOO

ooboooboO0oobo0oboboO0oobobO0ooboobooOoobo0OMaxima OO OOODOOOOOO
gobobobobobobobobobobobobobobobobobobobobOoboooobobo
goobooboooooobooooooboooobooooooooobooobboobooOooooooboon
OD00000ooooo®oo000o00odonooooog

gbobgoboobobobooboobbobobobobooooboboboooboobobobon
gbooooboooobooboooobOoboooboboooo

Q3. 0000Db0b00000D TgXOOOoboobod

gbobooboooooobooooboobooobobooooon

‘tex(l]l]l]); ‘

OO00000OD0plain TRXOOOOOO ODOOCOODOOOOOOOOOOODOCOODOORIEXODOO
oooooooOoooOoO0o0 TgXxobooooboooooooooooooooooooooooooo

1
/x4+1dxIZIIZIIZIEIDDDTEXDDDDDDDDDDDDDDDDDDD

(%1224) tex(integrate(1/(x"4+1),x));

$${{\log \left (x"2+\sqrt{2}\,x+1\right) F\over{4\,\sqrt{2}}}-{{\log
\left (x"2-\sqrt{2}\,x+1\right) }\over{4\,\sqrt{2}}}+{{\arctan \left(
{{2\,x+\sqrt{2}\over{\sqrt{2}}F\right) F\over{2\,\sqrt{2}}}+{{
\arctan \left({{2\,x-\sqrt{2}H\over{\sqrt{2}}}\right)\over{2\,
\sqrt{2}}}$$

(%0224) FALSE

gboboobooboobooboobobboboob2sgnuplot DOODOOOO0OO0O0DOOOOOO

(10)0 g UNIX Magazine 1000000 CD-ROM 00000000

()OOOO00000 Windows 98SE 00000000 DNOO0OO0ONO0OONONNO0ONO0ON0000N0000000000000
Microsoft Office 2000 0000000000000

(12)Dppo00000000000000000000000000000
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O UOD 4Uoooodod

D.1 Maxima O00O0O

1. 00o0ggooo

U0 solve UOO0OOOOOODOOODOOO0ODOODOO

(%i1) 7 solve

desolve :(maxima.info)Definitions for Differential Equations.
fast_linsolve :Definitions for Affine.

funcsolve :Definitions for Equations.

globalsolve :Definitions for Equatioms.

linsolve :Definitions for Equations.

linsolve_params :Definitions for Equations.

linsolvewarn :Definitions for Equations.

solve :Definitions for Equatioms.

solve_inconsistent_error :Definitions for Equations.

© 0 N O O bd W N = O

solvedecomposes :Definitions for Equations.

solveexplicit :Definitions for Equations.

=
= O

solvefactors :Definitions for Equations.

[
N

solvenullwarn :Definitions for Equations.

[
w

solveradcan :Definitions for Equations.
14: solvetrigwarn :Definitions for Equations.
Enter space-separated numbers, ‘all’ or ‘none’:
Info from file C:/PROGRA™1/MAXIMA~1.2/info/maxima.info:

-- Function: solve (<expr>, <x>)

-- Function: solve (<expr>)

-- Function: solve ([<eqn_1>, ..., <egqn_n>], [<x_1>, ..., <x_n>])
Solves the algebraic equation <expr> for the variable <x> and
returns a list of solution equations in <x>. If <expr> is not an
equation, the equation ‘<expr> = 0’ is assumed in its place. <x>
may be a function (e.g. ‘f(x)’), or other non-atomic expression
except a sum or product. <x> may be omitted if <expr> contains
only one variable. <expr> may be a rational expression, and may

contain trigonometric functions, exponentials, etc.

The following method is used:
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Let <E> be the expression and <X> be the variable. If <E> is
linear in <X> then it is trivially solved for <X>. Otherwise if
<E> is of the form ‘A*X"N + B’ then the result is ‘(-B/A)"1/N)’
times the ‘N’’th roots of unity.

If <E> is not linear in <X> then the gcd of the exponents of <X>
in <E> (say <N>) is divided into the exponents and the
multiplicity of the roots is multiplied by <N>. Then ‘solve’ is
called again on the result. If <E> factors then ‘solve’ is called
on each of the factors. Finally ‘solve’ will use the quadratic,

cubic, or quartic formulas where necessary.

coooH

(%i8) ev (x°6 - 1, %[11);

(sqrt(3) %i + 1)
(ho8)  mmmmmmeeeeeee -1

(%19) expand (%);
(%09) 0
(%i10) x°2 - 1;

(%010) x -1
(%i11) solve (%, x);

(%o11) [x = -1, x = 1]
(hi12) ev (%th(2), %[11);

(%012) 0

(%o1) false

2. 00000000

(1) 2735+ 1846 — 3099

(%i2) 2735+1846-3099;

(%h02) 1482
(2)  2.35x3.91—1.83 x 7.01

(%13) 2.35%3.91-1.83%7.01;
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(%03) - 3.639799999999999

6174
58 + 89

(%i4) 6174/(58+59);

686
(%ho4d) —
13
(4)  2.215 x 3.441%
(%i5) 2.217(1/3)%3.44°1.25;
(%05) 6.102327023772617
1 3
5 7
® ()
(%16)  (1/(37(1/2)+1))~(1/3);
1 1/3
(o8>  mmmmmmm————————e
(sqrt(3) + 1)
3. 0000

(%i7) fpprec:30;

(%oT) 30

(%18) bfloat(sqrt(%pi/2));

(%08) 1.25331413731550025120788264241B0
(2)  cos(sin(2.63%))

(%19) fpprec:30;

(%09) 30

(%110) bfloat(cos(sin(2.6373)));

Warning: Float to bigfloat conversion of 0.81871785281177967
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(%010)
(3) logy((42)
(%i11)

(%o11)

(%1i12)

(%o12)

1 1
(4) 16arctan (5) — 4 arctan (2—39>

(%113)

(%013)

(%i14)
(%o14)

(5) eV1r
(%i15)

(%015)

(hi1e)

(%o16)

4. 0Jggno

fpprec:30;

Ooob 0O0Ooogoooo

8.1871785281177962684655952106B-1

30

bfloat(log(42)/1og(10));

fpprec:30;

1.62324929039790046322098305657B0

30

bfloat (16*atan(1/5)-4*atan(1/239));

fpprec:30;

3.14159265358979323846264338328B0

30

bfloat (exp(sqrt(163)*%pi));

2.62537412640768743999999999999B17

(1) 0000 ¢t0 cos(30°) 0000000000

Chil?)

(%o17)

t:cos(30%%pi/180);
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1+t
(2) DDDDcD,#%—DDDDDDDDDD

(%i18) c:ratsimp((1+t)/2);

sqrt(3) + 2
(%018
4
11—t
(3) DOOOD sO TDDDDDDDDDD
(%119) s:ratsimp((1-t)/2);
sqrt(3) - 2
(%019) T —
4
(4) 2s000000000
(%120) ratsimp(2*c*s);
1
(%020) —
8
(5) 0DOOD te¢,s0000D0000OO0DOOODO
(%i21) kill(t,c,s);
(%o21) DONE

5. 0onono

(1) 000 000000000000OO00O0OO0O0OOOOOOODOOUOO %DDDDD p(z) OO
oooooo

(%i22) p(x) :=x*%pi/180;

(%022) p(x) = o

5)
(2) D00 200000000000000DO0OO0OODDOOOOODOOO §(x—32)|:||:||:||:||:| q(z) O
gooooboo

(%i23) q(x):=float(5/9%(x-32));

5
(%023) q(x) := float(--(x - 32))
9



106 Ooob 0O0Ooogoooo

(3) 000 4, -000000000000000 3000000 (z,y,2) 0000 a2 +y2+220
0000 r(z,y,2) 00000000

(%i24) r(x,y,z):=sqrt(x"2+y~2+z"2);
2 2 2

(%024) r(x, y, z) := sqrt(x +y + z)

(4) 000 a b c 2,y :000000000000000000 3000000 (a,b,¢), (z,y,2) 00

b
DDDC%1< ax +by + cz )DDDDDsm@qa%@DDDDDDDD
r(a,b,c)r(z,y, z)

(%i25) s(a,b,c,d,e,f) :=float(acos((a*x+b*y+cxz)/(r(a,b,c)*r(x,y,2))));

ax+by+cz
(%025) s(a, b, ¢, d, e, f) := float(acos(-——--- - )
r(a, b, ¢ r(x, y, 2)

(5) 00 p(x), q(x), r(x,y,2), s(a,b,c,z,y,z) D00 0000000000 0OO
(%i26) kill(p,q,r,s);

(%026) DONE

D.2 O00O0OO0O0O0O
l.y=f(x) DOOO

(1) O00y=2(z—1)200000 -2<2<200000000000

(%i27) plot2d(x*(x-1)"2,[x,-2,2]);

(x-l)"é*x

-10 F ]

a5 b ]

-20

(%o27)
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(2) 0000 y=10-0822400000 0<2<10000000000000

(%128) plot2d(10-0.8%*x70.4,[x,0,100]);

10 '
10-0.8*x"0.4 --------

(%028)

34207 — 4z -3
(3) DDDDy:x_%$+1$ 00000 -3<2<300000000000
X

(%129) plot2d((x~3+2*x"2-4*x-3)/(x+1), [x,-3,3], [y,-10,101);

10

-10

(%029)

(4) 005000000 y=ek, (k=-2,-1,0,1,2)00000 —2<2<200000000000
ooo
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(%130) plot2d([exp(-2*x),exp(-x),1,exp(x),exp(2*x)], [x,-2,2],[y,0,10]);

10

GEN-(2M)
%ERx

1 -n ]
WEAX — =
YEN(2*X)

(%030)
(5) DDD%zcos(w)DDDDDDDDDDDDDDDDD

(%131) plot2d([x/8,cos(x)], [x,-15,15]);

" w8
cos(x)

-15 -1‘0 -::3 :) :5 1‘0 15
(%031)

gboooboooso0b0boooboboooooboon

2. z=f(t),y=9g(t)OODOO

(1) 00 x=3cos(t)+cos(13t), y(t) = 3sin(t) +sin(13¢) 0 D000 0<t<2r 00000000000
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gooooo

(%i32)
, [nticks,300]);

(2)

(3)

(%032)

109

plot2d([parametric,3*cos(t)+cos(13*t),3*sin(t)+sin(13*t)], [t,0,2*Ypil]

0000000 «=cos(7t), y=sin(4) 00000 0<t<2r 00000000000

(%133)

(%033)

gbooooooboobod «

googno

cos(t)

1+ sin?(t)’

__sin(t) cos(t)

1+ sin®(¢)

plot2d([parametric,cos(7*t),sin(4*t)], [t,0,2*%pi], [nticks,300]);

gbodb ogt<2r 000000
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(%i34) plot2d([parametric,cos(t)/(1+sin(t)"2), (sin(t)*cos(t))/(1+sin(t)"2)]
, [t,0,2%%pil, [nticks,1000]);

0.4

03
02 /

01t

01 f
02 F "

03

-0.4

! ! ! ! ! ! ! !
-1 -0.8 -0.6 -0.4 -0.2 0 0.2 0.4 0.6 0.8 1

(%034)

3. z=f(z,y) OOOO

2 2
-Qiii>aﬁ@dﬁ+yﬂDDDDDD—4<%y<4DDDDDDDDDDD

(1) OO z:exp<— 5

(%135) plot3d(exp(-sqrt(x~2+y~2)/2)*cos()pi*sqrt(x"2+y~2)), [x,-4,4], [y,-4,4]1);

Function -------

(%035)

cos(x)
cos(y)

9) 000000000 z=1o 00000 —-X<zy< 200000000000
& 2 y=3
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3)

gooooo 111

(%136) plot3d(log(cos(x)/cos(y)), [x,-1.57,1.57],[y,-1.57,1.571);

LOG(COS(X)/COS(y)) -~

bSANoON»O®
bbb ONNO®

(%036)

1
™

200000 CESOO0DO0O(DOO00) w(a,x,y,p,q,7)=a(pr"+qy ") ~O00000000O0
000 a=2,p=2,¢=3,r=20000000<2,y<200000000000

(%137) u(a,x,y,p,q,r) :=a*x(pxx”(-r)+g*y~(-r)) " (-1/r);

(%037) u(a, x, y, p, 9, r) :=a (p x +qy )

(%138) plot3d(u(2,x,y,2,3,2),[x,0.01,2],[y,0.01,2]);

2ISQRT(3Iyr2+2/x"2) -

(%038)
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(%i39) kill(w);

(%039) DONE

4. © = f(s,t), y=g(s,t), z=h(s,t) DOOO

(1) 0000 x=-cos(s) (34 cos(t)), y=-sin(s) (3+cos(t)), z=sin(s) D0D0O00 0< s, t <20 000
goooooobo

(%140) plot3d([cos(s)*(3+cos(t)),sin(s)*(3+cos(t)),sin(t)], [s,0,2%%pil, [t,0,2*%pil);

Function --------

0.8

06

o.é F 0.4

0.6 0.2

04 F 0

0.2 F 0.2

o 0.4

2t

06 :2'8
08
aF

(%040)

(2) DODOO0D0O000 2= cos’(s)cos®(t), y =sin®(s)cos?(t), z =sin®*(t) 00000 0< s,t <21 O
DO00oO0000oo

(%i41) plot3d([cos(s) 3*cos(t)"3,sin(s) 3*cos(t)"3,sin(t) 3], [s,0,2x%pil, [t,0,2%%pil);

Function --------

0.8

06

o.é F 0.4

0.6 0.2

0.4 F 0

0.2 F 0.2

o 0.4

2t

06 :2'8
08
aF

(%041)
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2 2
(3) ODODOO0ODODDOODOOO z=2sinh(s) cos(t)—g sinh(3s) cos(3t), y = 2sinh(s) sin(t)—g sinh(3s) sin(3t),
z=2cosh(2s)cos(2t) DO0DDODO 03<s<09,0<t<2r 0000000O0O0O0OO

(%142) plot3d([2*sinh(s)*cos(t)-2/3*sinh(3*s)*cos(3*t),
2*sinh(s)*sin(t)-2/3*sinh(3*s)*sin(3*t) ,2*cosh(2*s) *cos (2*t)]
,[s,0.3,0.9], [t,0,2%)pi]l, [grid,4,72]);

Function --------

bSANoON»O®
S bbonso o

(%o42)

5. gnuplot O OO

(1) Maxima O y =
goog

mDDDDDD—2<x<2DDDDDDDDDDD gnuplot OO OOO
e

(%143) plot2d(1/(1+exp(-2*x+1)),[x,-2,2], [plot format,gnuplot]);

(%043)

gnuplot> load ’maxout.gnuplot’ with lines

09 [

0.8 [

0.7 |

0.6 [

05

0.4

03 |

0.2

01
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(2) gnuplot 0000O0z=+22+9%?0 z=2z+100000 -1<2,y<1 000000000000
gbooobooboobobooboobooboobooboboo

(%i44) plot3d(sqrt(x~2+y~2),[x,-1,1],[y,-1,1], [plot format,gnuplot]);

(%o44)

% tail +4 maxout.gnuplot > maxoutl @
(%i45) plot3d(x+1,[x,-1,1]1,[y,-1,1], [plot format,gnuplot]);

(%045)

% tail +4 maxout.gnuplot > maxout2 )
gnuplot> set hidden3d

gnuplot> splot ’maxoutl’ with lines, ’maxout2’ with lines

- f)’!!!!
i %;}!;ﬁ? i{ﬁ*f
5 f:ff}ffzé%ffm; ,gf;g:»+
»f:sf;?’:sf s
7 %fé{ﬂf&? i

e

0000 rrpe
oNRODRNRDON

J,ﬁ;fﬂn

o8
0.8
0.6
0.4
0.2
0
0.2
-0.4
06
-0.8
-1

-1 08 -06 -04 02 0 02 04 06 08 1

MOO00 Linux 0 MacOSX 000000 00O0Microsoft Windows 000000000 400000000000000000
ooo
OO0 Linux O MacOSX 00000000 Microsoft Windows D0 JDO0000 400000000000000000
[ERERE]
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(3) gnuplot 000Dz =sin(zy) 000000000 0<2,y<70000000000000000
000000 9000000000

(%i46) plot3d(sin(x*y), [x,0,%pil, [y,0,%pil, [plot format,gnuplot]);

% tail +4 maxout.gnuplot > contour.gnuplot
gnuplot> set contour

gnuplot> set cntrparam levels auto 9
gnuplot> unset surface

gnuplot> set view 0,0,1

gnuplot> splot ’contour.gnuplot’ with lines

w
Oién

[9))

o

?
Sb66R0000
CORNNNAOO

w

N
o

N}

=
13

(4) 0OOU0OO0OO0OUODOOU0OTEXOOOOUOO eps000000O0O0UOOUDOOgif00000OODOOOO
gnuplot> set output ’foo.eps’
gnuplot> set terminal postscript
gnuplot> splot ’contour.gnuplot’ with lines
gnuplot> set output ’foo.gif’
gnuplot> set terminal gif
gnuplot> splot ’contour.gnuplot’ with lines
gnuplot> set output

gnuplot> set terminal x11
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D.3 0OO0O0O0
1. 00goood
(1) 000 (—a+b+c)Pla—b+e)Pla+b—c) 00000000

(%i47) expand((-a+b+c) "3*(a-b+c) 3*(a+b-c)"3);

9 8 8 7 3 6 2 6

(%047) = ¢ +3bc +3ac -12abc -8b ¢ +12ab c

2 6 3 6 4 5 3 5 2 2 5
+12a bc -8a ¢ +6b ¢ +12ab c¢c -36a b c

3 5 4 5 5 4 4 4 2 3 4
+12a bc +6a ¢c +6b ¢c -30ab c +24a b c

3 2 4 4 4 5 4 6 3 5 3
+24a b ¢ -30a bc +6a c -8b c +12ab c

2 4 3 3 3 3 4 2 3 5 3 6 3
+24a b ¢ -56a b c +24a b c¢c +12a bc -8a c

6 2 2 5 2 3 4 2 4 3 2 5 2 2

+12ab ¢ -36a b ¢c +24a b ¢c +24a b c -36a b c

6 2 8 7 2 6 3 5
+12a bc +3b c-12ab c+12a b c+12a b c

4 4 5 3 6 2 7 8 9
-3 a b c+12a b c+12a b c-12a bc+3a c-bD

8 3 6 4 5 5 4 6 3 8 9

+3ab -8a b +6a b +6a b -8a b +3a b-a

(2) 000 (2+1)*%@-2)%0 20000000000
(%148) ratcoef ((x+1) " 36%(x-2)"°64,x"50);
(%048) - 56567652670376600977539072

(3) OO0 —bet—act + b3 + abc® + a?c3 + b3 + a3 — ble+ abdc + a®be — a'c — ab* + b3 + a3b* — a'b
gooobooogon

(%id9) factor(-bxc 4-axc 4+b~2*xc”3+axbxc~3+a"2*xc~3+b"3*c~2+a"3*c"2-b"4*c+axb”3*c

+a”~3xb*c-a"4*xc-axb~4+a"2xb"3+a"~3*%b"2-a"4%*b) ;

(%049) - (c-b-a) (c-b+a) (c+b-a)(bc+ac+ab)
(4) 19348061080666364197661270034638081 D OO OO OOOOOO

(%150) factor(19348061080666364197661270034638081) ;

2 3
7199911 7199921

(%050)
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2. 000000

(1) 000 z—-1+ oooooooo

r—2
3(x+1)_73(x2—x+1)

(%i51) ratsimp(x-1+1/(3*(x+1)-(x-2)/(3*x(x"2-x+1))));

4 3 2
9x -9x +2x +9x -8
(hob1)  mmmmmmmmmmmm e
3
9x -x+ 11
1
1
1+
1
2+
1
3+ —
(2) 000D —— Q00 00000000000000
1
i
3+
i
2+
1
1+ —
x

(hi52) q:ratsimp ((1/(1+%i/ (2+%1/(3+%i/x))))/(1/ (3+%i/ (2+%i/ (1+%i/x)))));

2
(30 %i + 32) x + (47 %i - 20) x - 2 %i - 12
(%052) e

(14 %1 +8) x + (16 %i - 12) x - 2 %1 - 4

(%i53) num(q);
2
(%053) (30 %i + 32) x + (47 %i - 20) x - 2 %i - 12

(%i54) denom(q);

2
(%054) (14 %i +8) x + (156 %i - 12) x -2 %i - 4
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(3) 0OOO 5 oooooooooooo
z7 +
(%155) partfrac(1/(x"9+1),x);
3
x -2 x - 2 1
(%055) e R
6 3 2 9 (x + 1)
3 -x +1) 9 (x -x+ 1)
3_32 3
(4) DDDfi—i%i—DDDDDDDDDDDDDDDDDDDDDDDDD
T —
(%156) partfrac((x"3-3*x"2+3)/(x-1),x);
2 1
(%056) X = 9 ¥ 4 —m—e -9
x -1
(%i57) plot2d([(x"3-3*x"2+3)/(x-1),x"2-2*x-2], [x,-5,5], [y,-10,10]);

-10

("3-3%243)(x1) 7
X222

(%057)

3. ggnbooog

(1) 000 283+pr+¢=00 ¢ 0000000000

(%158)

solve (x"3+p*x+q=0,x) ;
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2 3
sqrt(3) %i 1  sqrt(27 q +4p) q1/3
(%ho58)  [x = (- —===———-—= - D I Gl =)
2 2 6 sqrt(3) 2
sqrt(3) %i 1
(=== - -)p
2 2
2 3
sqrt(27 9 +4p) q 1/3
3 (m——mmmmmm - - =)
6 sqrt(3) 2
2 3
sqrt(3) %i 1  sqrt(27 q +4p) q 1/3
x = (-m———mmmm- - I G =)
2 2 6 sqrt(3) 2
sqrt(3) %i 1
(= === - -)p
2 2
2 3
sqrt(27 q +4p) q 1/3
3 (m——mmmmmmm - - =)
6 sqrt(3) 2
2 3
sqrt(27 q +4p) q 1/3 P
x = (--—mmmmmm e - =) e ]
6 sqrt(3) 2 2 3
sqrt(27 9 +4p) q 1/3
3 (m———mmmmmmmmm - - =)
6 sqrt(3) 2

(2) 0DOOOO

Byt +22=8
22 +y? + 22 =27
r+y+z=1

02y 0000000000

(%159) solve([x"3+y~3+z"3=8,x"2+y"2+z"2=27 ,x+y+z=1], [x,y,2]);

(%059) [[x = 3.722506393861893, y = 0.81094919259551, z = - 3.533455545371219],
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[x = 3.722506393861893, y 3.533455545371219, z = 0.81094919259551],

[x = - 3.533455545371219, y = 0.81094919259551, z = 3.722506393861893],

[x = - 3.533455545371219, y

3.722506393861893, z = 0.81094919259551],

[x = 0.81094919259551, y = - 3.533455545371219, z = 3.722506393861893],

[x = 0.81094919259551, y = 3.722506393861893, z = - 3.533455545371219]]

(3) DOoOOO

zy+yz+zex=1
r+y+z=1

0z y 0000000000
000 300000000 20000000000000000000000000000O

(%160) solve([xxy+y*z+z*x=1,x+y+z=1], [x,y,2]);

Maxima encountered a Lisp error:

Error in MACSYMA-TOP-LEVEL [or a callee]: O is not of type LIST.

Automatically continuing.

To reenable the Lisp debugger set *debugger-hook* to nil.

gooobobobooobooboooooooooooooooooobooooooooooooooooboDboon

(%161) solve([xxy+y*z+z*x=1,x+y+z=1], [x,y]);

2
sqrt(- 3z +2z-3) +z -1
(%061) [[x = = —==——————————————————————————- ,
2
2 2
sqrt(- 3z +2z-3) -z +1 sqrt(- 3z +2z-3) -z +1
2 1, x =~
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2
sqrt(- 3z +2z -3) +z -1
Y = - mmmm e 1]
2

UbobdbDez,y0 2000000000000 O00DO0OO0DOO

(4 ooooo
x2+y2:3
r+y=1

Oz, y 0000000000
(%162) solve([x"3+y~3=5,x"2+y~2=3,x+y=1], [x,y,2]);
(%062) N

gboobobooooboobooooooboooo

4. Uggogooog

() 000 z=cos(z) 0000000000000

(%i63) plot2d([x,cos(x)]1, [x,-3,3]);

X
COS(x)

(%063)

gboo0oboooboobooboooboooboooobooonbonobon 2=0.73482000000000
gbboobobooooobooooboboooobooboooooo

(%i64) 1load(newton);
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(%064) C:/PROGRA~1/MAXIMA~1.2/share/maxima/5.9.2/share/numeric/newton.mac
(%165) newton(x-cos(x),0.734820);

Warning: Float to bigfloat conversion of 0.73482000000000003

(%065) 7.390851332187552B-1
|
(2) DDDx%+ﬁ?&m:0DDDDDDDDDDDDDD

(%166) plot2d([0,x"35+x"33+1/10], [x,-1,1]);

25

(%066)

obooooboobooobobooooobooboobooobooDbbOnD z=-0915347 0000000
gbooobooboobooboobooboboobboboon

(%167) newton(x~35+x~33+1/10,-0.915347);

Warning: Float to bigfloat conversion of -0.91534700000000002

(%067) - 9.155556890178944B-1
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(3) 000 2°—624+1322-2=000000000000000

(%168) plot2d([0,x"6-6%x"4+13xx"2-2], [x,-2,2]);

(%068)

0000000000000 000000000000000000 « = 0.407034 O z = —0.409536
00000000000 ®oooo00o000000o0DoNoooDoooooo®n

(%169) newton(x"6-6*x"4+13%x72-2,0.394857);

Warning: Float to bigfloat conversion of 0.39485700000000001

(%069) 4.077364863224771B-1

(%170) newton(x~6-6%x"4+13%x"2-2,-0.394857) ;

Warning: Float to bigfloat conversion of -0.39485700000000001

(%070) - 4.077364863224771B-1

GO0 f(z) =25—621+1322 -2 000000000000 f(z)=f(-2z) 00000000000000000000000
000000000000000000000000000000
Wt=2200000f(z)=t3—612+13t—20000000030000000000000000000000000000
00 solve 000 float 00000000000z = —0.4077364863225, = = 0.4077364863225 00 000000000000
000000000000000000000



124

1. 000

(1)

OO0 lim

cos(2x) — 1
z—0 cosh(3z) — 1

gobogooog

(%i71) 1limit((cos(2*x)-1)/(cosh(3*x)-1),x,0);
4
(%o071) -
9
@ 000 tm ®=lgggp000
z—0+40 x|z
(%172) limit((cos(x)-1)/(x*abs(x)),x,0,plus);
1
(%072) -
2
2 4n
(3) 000 lim (1——> oopooood
n—00 3n
(%i73) 1imit((1-2/(3*n))~(4*n),n,inf);
- 8/3
(%073) YE
-2+ +5
@ DOy="——pgg—
oooo
(5hi74) 1imit((x"4-x"3+x+5)/(x"2-1)-(x"2-x+1),x,inf);
(%o74) 0
(%i75) 1imit((x"4-x"3+x+5)/(x"2-1)-(x"2-x+1) ,x,minf) ;
(%075) 0
2. 00000

(1)

Ooob 0O0Ooogoooo

002 00000000000000 y=22-2+1000000000

00 f(z) = cos (cos (cos(z?))) 0DDODDOODODOODO300000000000

(hi76)

(%076)

ChiTT)

diff (cos(cos(cos(x"3))),x);

2 3 3

3

- 3 x sin(x ) sin(cos(x )) sin(cos(cos(x )))

diff (cos(cos(cos(x~3))),x,3);
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6 3 3 3 3 3
(%077) 27 x sin (x ) sin (cos(x )) sin(cos(cos(x )))
6 3 3 3 3
+ 27 x sin (x ) sin(cos(x )) sin(cos(cos(x )))
6 3 3 3
+ 27 x sin(x ) sin(cos(x )) sin(cos(cos(x )))
3 3 3
- 6 sin(x ) sin(cos(x )) sin(cos(cos(x )))
3 3 3 3
- 54 x cos(x ) sin(cos(x )) sin(cos(cos(x )))
3 2 3 3 3
+ 54 x sin (x ) cos(cos(x )) sin(cos(cos(x )))
6 3 3 3 3
+ 81 x cos(x ) sin(x ) cos(cos(x )) sin(cos(cos(x )))
3 2 3 2 3 3
- 54 x sin (x ) sin (cos(x )) cos(cos(cos(x )))
6 3 3 2 3 3
- 81 x cos(x ) sin(x ) sin (cos(x )) cos(cos(cos(x )))
6 3 3 3 3 3

+ 81 x sin (x ) cos(cos(x )) sin(cos(x )) cos(cos(cos(x )))

(2) 00 f(x) 00000000000000000000000000000 z0000f(z)=000
00000000000 2000 f(x)00000000000000 (0000)00000000
0(000)0000000000000000000f(z)=2% (z>0)00000000000

(%i78) solve(diff(x"x,x)=0,x);

-1 X
(%078) [x = %e , x = 0]
(%i79) at(diff(x"x,x,2) ,x=float(1/%e));
(%079) 1.881596387531646

2
3) OO f(x,y):ﬁm x 0000000 fole,y) 0000y 0000000 f,(z,y) 00000

00000 f(x,y) DOODDOOODOOOOO

(%i80) diff ((x"2%y)/(x"4+y~2),x%);

(%080) mmmmmmm = —mmm—— o
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(%i81) diff ((x"2%y)/(x"4+y~2),y);

%o81) e o e

(%i82) diff ((x~2%y)/(x"4+y~2));

(ho82) (-=----= - —————-——- ) del(y) + (-———=== = ————=--——- ) del(x)

(4) OO log(cos(nz)) 002x=10000000000000000 60000000000
(%i83) taylor(log(cos(%pi*x)),x,1,6);
2 2 4 4 6 6
wpi (x - 1) wpi (x - 1) %pi (x - 1)

(%083)/T/ log(- 1) - —=——=—=—===== = ———m—m————m o oo
2 12 45

3. ggboog

10000
(1) 000 log(10000)— > -~ 0000000000
k=1

> =

(%i84) float(log(10000)-sum(1/k,k,1,10000));

(%084) - 0.5772656640682

(2) OO arctan(z) D02=1000000000 100000000000000000

(%185) sum(at(diff(atan(x),x,k),x=1)/k!*(x-1)"k,k,0,10);
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(%085) = ————---—- i ¥ ommmmmmmm o e

n
3) 00O Y kooooooo
k=1

(%i86) 1load(nusum);

(%086) C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/algebra/nusum.mac

(%187) nusum(k~2*exp(k),k,1,n);

2 2 2 2 n+1
(e n - 2% n +n -2%en+2n+ % +1) %e
(%ho87) ——————————————————

109 sin2(k)
4) 00O H(l—T)DDDDDDDDDD
k=1

(%188) float(product(l-sin(k)~2/k,k,1,100));

(%088) 0.0285262359834

10000 sin2(k)
) ooo [] (1—T>DDDDDDDDDD
k=1

(%189) float(product(l-sin(k)~2/k,k,1,10000));

gooobooboboobobobobboobobooboobooboobooo
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Maxima encountered a Lisp error:

Console interrupt.

Automatically continuing.

To reenable the Lisp debugger set *debugger-hook* to nil.

gbooobooboobgobboobooboobooblooboobooooboobooboon

(%190) 1st:makelist(float(product(1-sin(k)"2/k,k,100%n+1,100%n+100)),n,0,99);

(%090) [0.0285262359834, 0.70651698296465, 0.81701560512074,

0.8668398694711, 0.89487347730142, 0.91274778781261,

@oooo

0.99489816322068, 0.99496707323302, 0.99500380663043]

(%i91) product(lst[k],k,1,100);

(%091) 0.00285502480784
4. JO04dgnd
(1) DDDD/ = dr 0000000
x° +1

(%192) integrate(1/(x"5+1),x);

2
(sqrt(5) - 3) log(2 x + (sqrt(5) - 1) x + 2)
(h092) ————————m
10 - 10 sqrt(5)

2
(sqrt(5) + 3) log(2 x + (- sqrt(5) - 1) x + 2)

10 sqrt(5) + 10

4 x + sqrt(5) - 1
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(sqrt(5) + 1) atan(-—----——-——-——=-——-- )

sqrt(5) sqrt(2 sqrt(5) + 10)

4 x - sqrt(s) - 1

sqrt(5) sqrt(10 - 2 sqrt(5)) 5

(o) 22
(2) DDDDD/ Ce~7dx=10000 COO0OOOODO
— 00

(%193) solve(integrate(Cxexp(-x~2/2),x,minf,inf)=1,C);

(%093) [C= - ]
sqrt (2) sqrt(%pi)

(3) D00 y=f(z) 000000 (a,f(a)) ~ (b f(b) 0000 /b\/l—f—(f(x))deDDDDDDDD
000000000 y=-cosh(z) DODODODO (log(2—\/§)73)N(log(2+\/§),2)DDDDDDD
god

(%194) integrate(sqrt(1+(diff(cosh(x),x))"2),x,log(2-sqrt(3)),log(2+sqrt(3)));

(%094) 2 sqrt(3)
(4) |:||:|y ),(a <bf(x) >0)0 2 00000000000O0DODODOOOOOOOO
27r/f f(2))?de 00000000

2 2
gobooobgd x—2+b—2:1,(a>b)|:| 00000000000 boobobooboobooon
a

gboooby0ooboooboobooobooboooobooboo

(%195) solve(x~2/a"2+y~2/b"2=1,y);

(%095) ly =- -~ , ¥y = mmmmmmmmm oo ]

(%196) £ (x) :=bx*sqrt(a”2-x"2)/a;
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(%096) £(x) i= —mmmmmmmmm -

(%197) 2xYpixintegrate(f (x)*sqrt(1+diff (f(x),x)"2),x,-a,a);

Is a positive or negative?

positive;

/

[ 2 2 b x
2 %pi b I sqrt(a - x ) sqrt(-————-----—---—- + 1) dx
]
/

(hO97) =

gbobobopoooooboboobobobobobO sqre0bobobobobobonoon
gbooobobooboooboobooboobobbobon

(%198) 2xYpi*integrate(b/a*sqrt(b~2*x"2/a"2+a"2-x"2) ,x,-a,a);

Is a positive or negative?

positive;

Is (b - a) (b + a) positive or negative?
negative;

Is b positive or negative?

positive;
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2 2
3 2 2 sqrt(a - b ) 3 3
4 %pi b (a sqrt(a - b ) asin(--—--—-—------—- ) —ab +a b
a
(%098) = —mmmm
2 2
a (@b -2a)
(%199) solve(x~2/a"2+y~2/b"2=1,x);
2 2 2 2
a sqrt(b -y ) a sqrt(b -y )
(%099) [x = - - , X = mmmmmm—mm— ]
b b
(%i100) g(y) :=a*sqrt(b~2-y~2)/b;
2 2
a sqrt(b -y )
(%0100) gly) 1= ——————————————-
b
(%1101) g(y)*sqrt(1+diff(g(y),y)"2);
2 2
2 2 a 'y
a sqrt(b -y ) sqrt(-——----—--—--- + 1)
2 2 2
b (b -y)

(%0101) e

(%1102) 2xYpi*integrate(a/b*sqrt(a”2*y~2/b"2+b"2-y"2),y,-b,b);

Is b positive or negative?
positive;
Is (b - a) (b + a) positive or negative?
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negative;

Is a positive or negative?

positive;
2 2
3 2 2 sqrt(a - b ) 3 3
4 Y%pi a (b sqrt(a - b ) asinh(---------—--—- ) —ab +a b
b
(ho102) = —————m
2 2
b(2b -2a)
5. oo

(1) goooo v’(t):9.8—4.91)(t)|:||:||]|]|]|] U(O):ODDDDDDDDDD
(%1103) atvalue(v(t),t=0,0);

(%0103) 0

(%1104) desolve(diff(v(t),t)=9.8-4.9%v(t),v(t));

RAT replaced -9.8 by -49//5 = -9.8
RAT replaced 4.9 by 49//10 = 4.9

(%0104) v(t) =2 - 2 %e

(2) 0DOOO 2"(@#)—22"(t)+32'(t) —2z(t) =sin(x) 000000 z(0)=1,2'(0)=0,2"(0)=-10
gooooboooo

(%1105) atvalue(x(t),t=0,1);

(%0105) 1

(%1106) atvalue(diff(x(t),t),t=0,0);

(%0106) 0

(%1107) atvalue(diff(x(t),t,2),t=0,-1);
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(%0107) -1

(%i108) desolve(diff (x(t),t,3)-2xdiff(x(t),t,2)+3xdiff (x(t),t)-2*x(t)=sin(t),x(t));

sqrt(7) t sqrt(7) t
3 cos(-——————-- ) 9 sin(——------- ) t
t/2 2 2 cos(t) 3 %e
(%0108) x(t) = %e (mm=mmmm e — ) - - + -
4 4 sqrt(7) 2 4
(3) 00000 p(z)=—ap(x) 000000 p0) = —— 0000000000
V2r
(%1109) atvalue(p(x),x=0,1/(2x%pi));
1
(%o109) e
2 Y%PI

(%i110) desolve(diff (p(x),x)=-x*p(x),p(x));

(h0110) p(x) = ilt(-—————————— == — o , lvar, x)
2 Jpi lvar

U000 desolve UOOUODOODO0DOODOODO0DOO ode200DOODODOODODO

(%i111) ode2(diff (p(x),x)=-x*p(x) ,p(x),x);

(ho111) px) = %c %e

gbooobooboooo

(4 0000000
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000000 z(0)=1,y(0)=-10000000000
(%i112) atvalue(x(t),t=0,1);

(%0112) 1

(%1113) atvalue(y(t),t=0,-1);

(%0113) -1

(%i114) desolve([diff (x(t),t)=4*x(t)+2*xy(t)+sin(t),
diff (y(£),t)=3*x(£)+3*xy(t)-cos(t)], [x(t),y(t)1);

6t t
4 sin(t) 13 cos(t) 28 e 6 %e
(%0114) [x(t) = - ————==—= = ———————— + + o= >
37 37 185 5
6t t
4 sin(t) 24 cos(t) 28 e 9 %e
y(t) = - ——=-—-—- + —mmmmmm - +ommmmmmem = e ]
37 37 185 5

D4 0OO0O0OOOO

gobooogo

(1) 000 [1—-t1+t1—-¢41+¢} 000 p00000000000000 3000000000

(%i115) p:[1-t,1+t,1-t"2,1+t"2];

2 2
(%0115) [1-t,t+1,1-t%t,t +1]

(%i116) pl3];
(%0116) 1 -t

(2) 000 pO00 30000000000000p00D0D 1+¢#¥* 000000000000

(%i117) p:delete(p[3],p,1);

(%0117) [1-t,t+1,t +1]
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(%1118) p:endcons(1+t~4,p);

2 4
(%0118) [1-t,t+1,t +1,t + 1]

(3) 000 L1+t1+t+t21+t+t2+4) 000 ¢q0D00000D00000000 p0000 ¢0O
goooooo
(%1119)  q:[1,1+t,1+t+t72,1+t+t72+t73];

2 3 2
(%0119) [1,t+1,t +t+1,t +t +1t+ 1]

(%1120) append(p,q);

2 4 2 3 2
(%0120) [1-t,t+1,t +1,t +1,1,t+1,t +t+1,t +t +t+ 1]

(4) makelist 0000000000 00O0O0ODO0ODOO0OOOOUOOOOOOOOODOOOOOOO
gboooog

(%1121) p:makelist(makelist(x*y,y,1,9),x,1,9);

(%0121) [[1, 2, 3, 4, 5, 6, 7, 8, 9], [2, 4, 6, 8, 10, 12, 14, 16, 18],
3, 6, 9, 12, 15, 18, 21, 24, 271, [4, 8, 12, 16, 20, 24, 28, 32, 36],
[5, 10, 15, 20, 25, 30, 35, 40, 451, [6, 12, 18, 24, 30, 36, 42, 48, 54],
(7, 14, 21, 28, 35, 42, 49, 56, 63], [8, 16, 24, 32, 40, 48, 56, 64, 72],
[9, 18, 27, 36, 45, 54, 63, 72, 81]]

(%i122) apply(matrix,p);

[1 2 3 4 5 6 7 8 9 ]
[ ]
[2 4 6 8 10 12 14 16 18]
[ ]
[3 6 9 12 15 18 21 24 27 ]
[ ]
[4 8 12 16 20 24 28 32 36 ]
[ ]
(%0122) [5 10 15 20 25 30 35 40 45 ]
[ ]
[6 12 18 24 30 36 42 48 54 ]
[ ]
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[ 7 14 21 28 35 42 49 56 63 ]

L ]
[8 16 24 32 40 48 56 64 72 ]
[ ]

[9 18 27 36 45 54 63 72 81 ]

(5) 50000 00O 10000 00000000000OOOUCOOOUOOOOOUOOOUODOOUOODOOOO
0000000000 10000000000 0Maxima 00 random(10000) OOOOCOODOO

(%1123) r:makelist(random(10000),i,1,500);

(%0123) [719, 2976, 1770, 3297, 8705, 4617, 8543, 7, 6486, 4692,
4756, 246, 3560, 9431, 5302, 7228, 9731, 6607, 2797, 2785, 7922,

(oo

6166, 8048, 6323, 2015, 2063, 243, 847, 2384, 2650, 6904, 2778,
5177, 2315, 3722, 9325]

(%i124) sort(r);

(%o124) [7, 46, 83, 97, 126, 170, 235, 243, 246, 265, 271, 274, 303,
309, 331, 332, 347, 367, 382, 387, 402, 431, 457, 462, 505, 526,

oooo)

9503, 9518, 9573, 9582, 9582, 9584, 9588, 9629, 9707, 9731, 9736,
9791, 9817, 9819, 9823, 9826, 9847, 9937, 9972, 9974, 9992]

gobooogo

(1) D000 v =(2.62,-0.12,1.21), vo = (2.66,—0.44,2.12) 00000 1.27v; — 0.92v, DO0O0 00 OO
(%i125) wv1:[2.62,-0.12,1.21];

(%0125) [2.62, - 0.12, 1.21]

(%i126) v2:[2.66,-0.44,2.12];

(%0126) [2.66, - 0.44, 2.12]
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(%i127) 1.27*v1-0.92%v2;
(ho127) [0.8802, 0.2524, - 0.4137]
(2) 0000 v =9+vV59-v53V2),va=(5-+55++52)000000000 v,,v, 0000
000000000000 000D0000D0 (000 100000)0000000
(%1128) v1:[9+sqrt(5),9-sqrt(5),3*sqrt(2)];

(%0128) [sqrt(5) + 9, 9 - sqrt(5), 3 sqrt(2)]

(%hi129) v2:[5-sqrt(5),5+sqrt(5),2];

(%0129) [5 - sqrt(5), sqrt(5) + 5, 2]

(%1130) sqrt(ratsimp(vi.vi));

(%0130) sqrt (190)

(%1131) sqrt(ratsimp(v2.v2));

(%0131) 8

(%1132) v1/sqrt(ratsimp(vi.vl));

sqrt(5) + 9 9 - sqrt(5) 3 sqrt(2)
(%ho132) (- , TTmTmme——ees , TTTmmmem—s ]
sqrt (190) sqrt (190) sqrt (190)

(%1133) v2/sqrt(ratsimp(v2.v2));

5 - sqrt(5) sqrt(s) +5 1
(%0133) [ R s ==]

(3) 000200700000 vy,v, 000000000000 #00000v;-vy = ||v1]||va]|cos(8)
000000000000000000000200 300000 vy =(-1,0,2), v =(0,—1,3) 0
3000000000000000000

(%i134) wvi1:[-1,0,2];

(%0134) [-1, 0, 2]

(%i135) wv2:[0,-1,3];
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(%0135) [0, -1, 3]
(%1136) acos(v1.v2/(sqrt((vi.v1)*x(v2.v2))));

(40136) acos(——--———--- )
5 sqrt(2)

(%1137) float(acos(vl.v2/(sqrt((vl.v1)*(v2.v2)))));

(%0137) 0.55759882669954

1

(4) 000 0OABOOD SOO0OOO 07,0_B)DDDDDS=§|07><O_B>|DDDDDDDDDDDDD
00D00000000000000030 O=(0,0,0), A= (1.12,0.37, -0.88), B = (1.71,0.64, 0.95)
0000000000000000

(%1138) 0A:[1.12,0.37,-0.88];

(%0138) [1.12, 0.37, - 0.88]

(%1139) 0B:[1.71,0.64,0.95];

(%0139) [1.71, 0.64, 0.95]

(%1140) c:transpose(adjoint(matrix(0A,0B,[1,1,1]1)))[3];

(%0140) [0.9147, - 2.5688, 0.0841]

(%i141) float(sqrt(c.c)/2);

(%o141) 1.364045668223759

gobooo

t—1 1 t
A= ,B = 0
0 —t 1—t —1
0000024+ 3B, AB—BA, A+ B> 0000000

(%i142) A:matrix([t-1,1],[0,-t]);
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(ho142) [ ]

(%1143) B:matrix([t,0],[1-t,-11);

(%0143) [ ]

(%1144) ratsimp(2xA+3%B);

[6t -2 2 ]
(%ho144) [ ]
[3-3t -2t-31]

(%1145) ratsimp(A.B-B.A);

(%0145)

(%1146) ratsimp(A~"5+B~"5);

[ 5 4 3 2 ]
[2t -5t +10t -10t +5t-11
(%0146) Col 1 = [ 1
[ 5 4 3 2 ]

[ -t +2t -2t +2t -2t+1 1]

[ 4 3 2 ]
[t -2t +4t -3t+1]
Col 2 = [ ]
[ 5 ]
[ -t -1 1
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(2) OO

-287 036 —-2.78 -290 -0.22
-195 -1.69 0.56 —-287 —1.67
—-0.47 021 =271 0.60 1.99
1.01 1.52 —-1.79 1.54 1.35
—-1.06 —-192 -2.86 -—-1.15 0.24

gboooboooooooboooon

(%1147) mtx:matrix([-2.87,0.36,-2.78,-2.90,-0.22]
,[-1.95,-1.69,0.56,-2.87,-1.67],[-0.47,0.21,-2.71,0.60,1.99]
,[1.01,1.52,-1.79,1.54,1.35],[-1.06,-1.92,-2.86,-1.15,0.24]);

[ -2.87 0.36 -2.78 -2.9 -0.221]
[ ]
[-1.95 -1.69 0.56 - 2.87 - 1.67 ]
[ ]
(%0147) [ -0.47 0.21 -2.71 0.6 1.99 ]
[ ]
[ 1.01 1.52 -1.79 1.54 1.35 ]
[ ]
[-1.06 -1.92 -2.86 -1.15 0.24 1]

(%1148) determinant(mtx);

(%0148) - 4.742796508100006

(%i149) invert (mtx);

- 1.960158685729549 ]

0.17852846069907

(%059) Col 1 =

2.097936886604074

L T e TR e TR s T s T s Y s T s T s |

]
]
]
- 0.37308034552569 ]
]
]
]
]

- 1.62239971224963
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Col 2 =

L T e T e I s Y s T e Y s B e Y e}

Col 4 =

L T s T e I s SO s T e B s Y s B |

go

goooog

(%1150)

(%0150)

(%i151)

(%o0151)

(%1152)

5.160916357721979 ] [ 0.99513618852071 ]
] L ]

0.13161402959919 ] [ - 0.10477522051627 ]
] [ ]

0.87094753969421 ] Col 3 = [ 0.53565721102754 ]
] L ]

- 6.250456887486373 ] [ - 1.661472181347452 ]
] [ ]

4.275645078882732 ] [ 1.979010630957918 ]
4.778897914192797 ] [ - 1.018074136588739 ]
] [ ]

0.39941195595568 ] [ - 0.29846567053476 ]
] L ]

0.32023516029121 ] Col 5 = [ - 0.52446083776773 ]
] [ ]

- 5.221811544666378 ] [ 1.579409746382071 ]
] L ]

3.0970501106075 1] [ - 1.39937274952975 ]

1.51 1.48 —0.81
—245 —-1.17 =221
-230 -212 1.74

gobooobobooooo

mtx:matrix([1.51,1.48,-0.81],[-2.45,-1.17,-2.21],[-2.30,-2.12,1.74]);

[ 1.51 1.48 - 0.81]
L ]
[-2.45 -1.17 - 2.21]
L ]
[-23 -212 1.74 ]

load(eigen) ;

C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/matrix/eigen.mac

float (expand(eigenvectors (mtx)));
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RAT replaced -0.81 by -81//100 = -0.81

RAT replaced 5.194000000000001 by 2597//500 = 5.194

RAT replaced 2.3 by 23//10 = 2.3

RAT replaced -1.17 by -117//100 = -1.17

RAT replaced -1.48 by -37//25 = -1.48

RAT replaced -5.083 by -5083//1000 = -5.083

RAT replaced -2.45 by -49//20 = -2.45

RAT replaced 1.74 by 87//50 = 1.74

RAT replaced -4.6852 by -11713//2500 = -4.6852

RAT replaced -1.17 by -117//100 = -1.17

RAT replaced 1.74 by 87//50 = 1.74

RAT replaced 1.51 by 151//100 = 1.51

(%o0152) [[- 0.1884393480298 %i - 0.66986666681573,
0.1884393480298 %i - 0.66986666681573, 3.419733333631462],
[1.0, 1.0, 1.0]], [1.0, - 0.18980066885001 %i - 1.842547458561893,
- 0.11415511341756 i - 0.67543650846404],
[1.0, 0.18980066885001 %i - 1.842547458561893,
0.11415511341756 i - 0.67543650846404],
[1.0, 0.31995646942145, - 1.773083652947805]]

(4) 00000 z,=5z,-1—6x,2+2,21=1,2o=200000000000000
(%1153) 1load(eigen);

(%0153) C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/matrix/eigen.mac

(%i154) r:matrix([5,-6,2],[1,0,0],[0,0,1]1);

[6 -6 2]
[ ]
(%o0154) [1 0 0]
L ]
[0 O 1]
(%1155) e:eigenvectors(r);
1 1
(%0155) rces, 2, 11, 1, 1, 111, 1, --, o1, (1, --, o1, [1, 1, 111
3 2

(%1156) p:transpose(apply(matrix,rest(e,1)));
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(5)

gooooo

(%0156)

(%i157)

(%0157)

p.matrix([37(n-2),0,0],[0,2"(n-2),0],[0,0,1]) .invert(p).[2,1,1];

Lo B e B s B e B e E e I

[y
—_ g g

0000n>200000z,=3""1-2""14+100000

go

gboooboobooobgoboo

(%i158)

(%0158)

mtx:matrix([2,-2,5,8,-3],[1,4,3,2,7],[5,7,-4,0,4]

,[6,3,6,9,2],05,8,9,1,51);

N
|
N

-
W

(e}
w

(e
(0]

(9]

mrm mrm m m m mrm m mrm M
ol
~
[
N

= O O N o

TN =

I I VT VR | O [ S IS S |
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(%1159) load(nchrpl);

(%0159) C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/matrix/nchrpl.mac

(%1160) n:length(mtx);

(%0160) 5

(%1161) c:ncharpoly(mtx,x);

5 4 3 2
x - 16 x - 120 x + 1115 x + 4978 x + 4848

(%o161)

(%i162) t:sqrt(sum(sum(mtx[i,jl"2,i,1,n),j,1,n));

(%0162) sqrt (653)

(%1163) plot2d([0,c], [x,-t,t]);

4e+006

2e+006 [ q

ok U= 4

-2e+006 q

-4e+006 q

-6e+006 q

-8e+006 [ b

-1e+007 | q

-1.2e+007

-1.4e+007

-1.6e+007 L L L . L
-30 -20 -10 0 10 20 30

(%0163)

gobooboooboooboobooobooboooooooooooooobooobooooooboOoOoto
0000000000000 00000000000000000000000000000®000
gboboboboboobobobobooboobooooooooooobooooobooboooooon
-0 2000000000

(%i164) plot2d([0,c], [x,-10,20]1);
(%o164)

U000z = —8.01569, x =9.33907, x = 18.4013 0 300000000000 O0DOO0O00 z=-20
oooobooooooobo
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250000
200000
150000
100000

50000

-50000
-100000

-150000

50

10

20

45 +

40

35

30 -

25

20

15

10

(%1165)

(%0165)

-1.95

-1.9

plot2d([0,cl, [x,-2,-1.71);

-1.85

-1.8

-1.75

-1.7

145
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gboooboobooo

(%i166)

(%0166)

(%i167)

Warning:

load(newton) ;

() DpoDOoO00O00DO0O0O00000000000

al:newton(c,-8.01569);

Float to bigfloat conversion of -8.0156899999999993

C:/PROGRA~1/MAXIMA~1.2/share/maxima/5.9.2/share/numeric/newton.mac
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(%o167) - 7.972000692037633B0

(%1168) a2:newton(c,9.33907);

Warning: Float to bigfloat conversion of 9.3390699999999995

(%0168) 9.3477926515179B0

(%i169) a3:newton(c,18.4013);

Warning: Float to bigfloat conversion of 9.3390699999999995

(%0169) 1.83848041774695B1

0030000000 a1,a2,e3000000000000000000000000000O00O0OO
0000000000000 2°—162* — 12023 + 111522 + 49782 + 4848 O (z — ay)(z — az)(x — az)
0000000000D00000020 200000000000000

(5i170) float(partfrac(c/((x-al)*(x-a2)*(x-a3)),x));

RAT replaced -1.83848041774695B1 by -7501/408 = -1.838480392156863B1
RAT replaced -9.3477926515179B0 by -24351/2605 = -9.347792706333973B0
RAT replaced 7.972000692037633B0 by 44986/5643 = 7.972000708842814B0
5.771508379631471E+20
(hol170) = ————— =
9.254060881013166E+26 x + 7.377337990311152E+27

2.987491147469051E+20

4.32291185605756E+25 x - 4.040968391817951E+26

1.540795460535884E+17 2

1.466129755069242E+21 x - 2.695450807052546E+22

+ 3.760595919059786 x + 3.53856034167763

(%i171) float(expand(solve(x~2+3.760595919059786%x+3.53856034167763,%)));
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RAT replaced 3.53856034167763 by 2753//778 = 3.538560411311054
RAT replaced 3.760595919059786 by 14640//3893 = 3.760595941433342
(%0171) [x = - 0.05513576543246 i - 1.880297970716671,

x = 0.05513576543246 %i - 1.880297970716671]

gbooobooboobobooboon

x = —7.972000692037633,

x = 9.3477926515179,

T = 18.3848041774695,

x = —1.880297970716671 — 0.055135765432461,
= —1.880297970716671 4 0.05513576543246%

Us00o0oo0oboooooogn

D5 0O00OoOooobobono

gboboobodLspO000Oo0obOOOobOOOobOOoOobOOOooo0b0o0bobbonbDb LIspb0g cC
gbooooobooooboboobooboboooboboo0oooOobooooon

(1) 00¢+00O00O000O0O00U00O0O0O000UO0O0O00U0O0 mysndspd 000000000 0OOOO
t0o0doooon 331.5+061t 0000000

(%i172) mysndspd(t) :=331.5+0.61%t;
(%0172) mysndspd(t) := 331.5 + 0.61 ¢
(2) 19260000000000000000000000000000000000 nyeras 00000
00000000 200100000 1340000 9%00007600000000

(%1173) myeras(year) :=if integerp(year) and year>=1925
then print("Meiji",year-1867,",Taisho",year-1911,",Showa",year-1925)

else print("false");
(%0173) myeras(year) := if integerp(year) and year >= 1925
then print("Meiji", year - 1867, ",Taisho", year - 1911, ",Showa",

year - 1925) else print("false")

(3) 20000 z= f(z,y) 0000000 [2,9)] 0000000000000 mycritpts 10000
0 0
DD000000 2 = fr,y) 00000 =0, 2 =00000 (2;,%) 000020000

Y
z
ox dy
(@i i, f(zs,)) DOODODOO
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(%1174) mycritpts(f,v):=float(solve(makelist(diff(f,v[i])=0,1,1,length(v)),v));

(%0174) mycritpts(f, v) := float(solve(makelist(diff(f, v ) = 0, i, 1,
i
length(v)), v))

(4) DOOO0OO0OO ¢,000000 0000000000000 000 mydiscomfort 00D 0OOOO
000000000000 ¢0 i=4064+0.72(c1 +c) ODO0D00OOOO

;<700 000ODOO

e 0L O0OOOOOODODO

e 75 < <80 00000OOODODO

e300 00OOODOODOO
gooooon

(%1175) mydiscomfort(cl,c2):=block([1:40.6+0.72*(cl+c2)],
if i>=80 then return("All discomfort")

else (if i>=75 then return("Half discomfort")

else (if i>=70 then return("Some discomfort")

else return("Comfort")

));

(%0175) mydiscomfort(cl, c2) := block([i : 40.6 + 0.72 (cl + c2)],
if i >= 80 then return("All discomfort")
else (if i >= 75 then return("Half discomfort")
else (if i >= 70 then return("Some discomfort")

else return("Comfort"))))

(5) Maxima O n 00000000000 0O0OO0O0OODOOOOOOOOOOOODOODODOOOOOOOD
goobobDDO0D mybigsmall DO ODOOOO

(%1176) mybigsmall(n):=block([r,a:0,i],rnd:random(n),
for i:1 while a#r do(
a:read("Trial",i,":"),
if a>r then print("Too big!")
else (if a<r then print("Too small!")
else print("Bull’s eye!"))),
return("DONE")) ;

(%0176) mybigsmall(n) := block([r, a : 0, i], r : random(n),

for i while a # r do (a : read("Trial", i, ":"),
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if a > r then print("Too big!")
else (if a < r then print("Too small!")

else print("Bull’s eye!"))), return("done"))

(6) 2000000000000O00OUCO0O0O0OO0O myintersection JO0O0OOOO

(%1177) myintersection(p,q) :=block([1lst:[],i],
for i:1 thru length(p) do(
if member(p[il,q)) then lst:endcons(p[i],1lst)),
return(sort(1lst)));

(%0177) myintersection(p, q) := block([1lst : [], il,
for i thru length(p) do (if member(p , q)
i
then 1lst : endcons(p , 1lst)), return(sort(lst)))

1

(7) 2000000000000000000000 mywnion 0000000

(%1178) myunion(p,q) :=block([lst:[],i],
for i:1 thru length(p) do(
if not(member(p[i],1lst)) then lst:endcons(p[i],lst)),
for i:1 thru length(q) do(
if not(member(q[i],1lst)) then lst:endcons(q[i],1lst)),
return(sort(1lst)));

(%0178) myunion(p, q) := block([1lst : [], i],
for i thru length(p) do (if not member(p , 1lst)
i
then 1st : endcons(p , 1lst)), for i thru length(q)
i
do (if not member(q , 1lst) then 1lst : endcons(q , 1lst)),
i i

return(sort(1lst)))

(8) csv0I0O0DOD0OOO0OODDOOUOOUODOODOUODOOOODDOOUOOODOODOUOOO mycolumn
gooooon

(%1179) load("C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/contrib/

numericalio/numericalio.lisp");
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(%0179) "C:/PROGRA™1/MAXIMA~1.2/share/maxima/5.9.2/share/contrib/numer#

icalio/numericalio.lisp"

(%1180) mycolumn(f,c) :=transpose(read matrix(f)) [c];

(%o180) mycolumn(f, c) := transpose(read matrix(f))

C

(9) readmatrix00000000000000O0OCOUO0O0OODODODOO0ODOODOOOO read-list
000000 OesvyOODOOOOO0DODOOO0DODODOODOOODODN myreadmatrixOOO0O
goo

(%1181) myread matrix(f,c):=block([1lst:read 1ist(f),r,i,j],
r:length(lst)/c-1,if integerp(c) and c>0 and integerp(r)
then return(apply(matrix,makelist(makelist(1st[c*i+jl,j,1,¢),1,0,1r)))

else return("false"));

(%0181) myread_matrix(f, c) := block([lst : read_list(f), r, i, jJ,

length(1lst)
r @ ——————————- - 1, if integerp(c) and c¢ > 0 and integerp(r)
c
then return(apply(matrix, makelist(makelist(lst ,» Jj» 1, ¢,

ci+j

i, 0, r))) else return("false"))

(10) 400 csv 0000000000 UODOOOODOOOOD 300000000000000OOOO0O
U0 600 csvOOO0OOO0O0O0O0OO0DOODOO mysolver DODOOO0OO0O0OO0O0O0OO0ODOODOOO
gbooboboooooboooobooboooobon

(%1182) mysolver(r,w):=block([c:read matrix(r),i,j,s,x,p,m:[1],
for i:1 thru length(c) do(s:expand(solve(c[i].[x"3,x72,x,1]1=0,x)),
p:makelist(if j<=length(s)
then float([realpart(rhs(s[j]l)),imagpart(rhs(s[j]1))]1)
else ["false","false"],j,1,3),
m:endcons (apply (append,p) ,m)), write_ data(apply(matrix,m),w,’csv),

return(m));

(%0182) mysolver(r, w) := block([c : read_matrix(r), i, j, s, X, p,
m : []], for i thru length(c) do (s :
3 2

expand(solve(c . [x , x, x, 1] =0, %)),

i
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p : makelist(if j <= length(s) then float([realpart(rhs(s )),
N
imagpart(rhs(s ))]) else ["false", "false"], j, 1, 3),
J
m : endcons(apply(append, p), m)),

write_data(apply(matrix, m), w, ’csv), return(m))
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